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W Can | stop by your office today?
M

(@) Sure, you can drop by anytime.
(b) I’'m sorry about the short notice.
(c) Yes, just tell me where it is.

(d) At the bus stop.
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B (a)

M Have you brought my dictionary back?
w

a) Yes, | will bring it soon.

b) It’ll be paid by the due date.

c) We don’t agree with each other.
d) | have it with me right now.
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B (d)

Has the train left already?

a) Well, you just missed the deadline.
b) Not according to the timetable here
c) It’s OK. You can pay the late fee.

d) | think you are on the right track.
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W Do all rooms include breakfast?
M

a) | still have room for dessert.
b) It’s an all-you-can-eat buffet.
c) You are supposed to leave a tip.
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(d) The standard rooms don’t.
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(c) B2 £0+ S0{0} HE.
(d) ABHE= 22 ofjofe.
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B (d)

M Is everything OK with the project? Any
problem?
W

(@) Thanks for solving the problem.
(b) I don’t mind if | do.
(c) So far so good

(d) Anything will be fine.
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M Would you double-check these figures for
me, please?
w

(@) But | already went there twice.

(b) Sorry, but my hands are tied now.

(c) Sure, I'd love to have a double helping.
(

d) Yes, you have a really good figure.
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M What are you going to do this Sunday?
w

(@) Don’t tell me you are serious.

(b) I'll probably be self-employed.

(c) I want to catch up on some reading.
(d) It's my home away from home.
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W How do you get a seat on the bus every
morning?
M

(@) My bus stop is the first on the route.
(b) Because | usually take a cab to work.
(c) | find the morning commute tiring.

(d) I always yield a seat to senior citizens.
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W How did you put all of your stuff into one
backpack?
M

a) | managed to jam everything in.

b) That’s because | tend to overpack.
c) | stuffed my hands in my pockets.
d) | don’t let my assistant pack for me.

(
(
(
(

siiA WUl 2SS o8 i shfoll o ZAL?

M
() O1E BHA T 40 S 4 U012
(b) X7t A% 50| M= ZEHO| U0INR

(c) FHLloll &2 M A0,
7(

N
M
0T
i3
IU|0
I'|-|[I
= A
o
_>,'_
0|_L
_rj_
kl
n ﬂﬂ
Ol
FI'F

0i%] manage to 742 ~=2 SlUiCt jam %A ot
overpack 4= 20| Mt assistant ==~

T (a)

10

W Where did you go to college?
M

a
b
C
d

=

Once upon a time in Canada

-

In a very crowded place

-

| went to Cambridge University.
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It was before high school, actually.
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M It looks like my blue jacket is gone.
w

(@) Then put it in the washing machine yourself.
(b) I got all dressed up for the party.

(c) I'm sure it will turn up somewhere.

(d) She’s already been gone for two weeks.
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(c) =8 ofriM7 LIErE 7of,
(d) 21tk olo] 23= ol wixto.
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W My neck is killing me.
M

a) But my doctor said otherwise.

(

(b) Do you think it really helps?

(c) Have you tried physical therapy?
(

d) They are neck and neck.
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W I'd like to change my reservation to
Wednesday.
M

(@) You can reserve it for another use, then.

(b) Okay, tell me your name and phone number.
(c) 'l make sure to have it delivered to you.

(d) We cannot extend the deadline now.
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W Excuse me, | think you overcharged me for
the beer.
M

a) Don’t worry. It’'s complimentary.

c) It's a discounted price.

(
(b) Just a moment. Let me check.
(
(d) You can’t drink alcohol here.
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M Thank you for the cake.
w

(@) I'll pay for it.

(b) Don’t mention it.

(c) Put some sauce, then.
(d) There’s nothing much.
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W Department store customers can park in Lot
D free of charge.
M

(@) | know. How much is it?
(b) Really? Which way is it?
(c) Yes, the traffic is terrible.
(d) I’'m not going to the park.
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M Don’t break your promise again.
W

(@) I swear | won't.

(b) I’'m glad you think so.

(c) You have a promising future.
(

d) Sorry, it’s not breakable.
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M I'm glad to finally meet you in person, ma’am.
W

a) The pleasure is mine.

b) | met her in person, too.
c) That’s what | want to do.
d) Not so fast, young man.
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M Uh-oh, my stomach feels funny.
w

(@) Maybe it’s the fish you had for lunch.
(b) You have a good sense of humor.

(c) Oh, that’s why you’re smiling.

(d) But I'm not hungry at all.
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W There is no smoking here, sir.
M

a) What? | thought this is a smoke-free area.

¢) Then give me a cigar instead.

(

(b) Sorry, I'll turn it up now.

(

(d) Oh, where can | smoke then?
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M Hello, Golden Dragon Chinese Food.

W I'm calling to complain about the food that
was just delivered.

M What seems to be the problem?

w

(@) I'll forward your complaint.

(b) There is a hair in my soup.

(c) I have a craving for noodles.

(d) We don’t serve vegetarian dishes.
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W Hi, how can | help you?

M I'd like to buy some milk, please.

W Which one would you like, skim milk or whole
milk?

M

(@) The milk has gone sour.

(b) I’ll take whichever is cheaper.

(c) | skimmed through the article first.
(

d) 1 don’t put milk in my tea.
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We should go over these numbers together
tomorrow.

Tomorrow is fine for me. I'll be in my office.
What time suits you best?

2 £ =

(@) Let’s make it at four.

(b) At any time of the year.

(c) Suite room, at 3 p.m., please.

(d) This suit is the best.
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Where were you today? | was worried about
you.

Sorry, something happened at work.

Oh, is this going to be usual?

a) Yes, it happened lately.

b) | don’t really recall it.

c) Only for this month, | guess.

d) I’'m often concerned about nothing.
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W Hello, Canadian Airlines. How can | help
you?

M Hi, I'd like to book a flight to Bangkok.

W When would you like to go?

M

(@) I went there last year.

(b) On the eighth next month.
(c) I never fly economy class.
(d) After | check in my luggage.
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Have you received the sample | sent you?
No. Why don’t you check the tracking
number?

=

M Oh, do you know where | can do that?
W

a) You can just reorder the sample.

(
(b) On the delivery company’s homepage
(c) I should’ve sent it by registered mail.

(

d) It is packaged up, ready to be sent.
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Where are you going?

To the monthly meeting. It’s been put forward
to 2 p.m.

What? Why didn’t you tell me?

a) | didn’t know you knew it.

c) Oh, it slipped my mind.

(
(b) Because it’s high on the agenda.
(
(

d) After all, we’re one team.
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M | heard you got a job as a tour guide.

W Yes, I'm really excited about this new job.
M Wouldn’t a desk job be better?
w

(
(
(
(

a) Yes, | see a big future here.

b) Right, | was stuck in the office.
c) No, I'll chair the meeting myself.
d) | want something more active.
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How can | help you, sir?
I’'m looking for a gray sweater.
Okay. How about this one?

a) Great. Is it still warm, though?

b) Oh, that perfectly matches my pants.

c) Not bad, but it’s in the gray area.
d) It comes in different colors.
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(b)

come in (& 50))

Are you coming to Tony’s party tonight?
No, I’'m not.
Is there any problem between you and Tony?

a) We’re not on speaking terms these days.
b) All | need is your honest feedback.

c) | can solve this math problem by myself.
d) Yes, he’ll be missed a lot.
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(b) stXI2t 0H%8 =) 7I=’-%M01I el ‘2,1018 (-]
W Wow, look at this fancy sports car! (c) E20|%. & I K. =
M Thanks, | drive it to school. (d) 221, 22| T2 421 7I=0I/lE WU #HL. E
W I didn’t know you are into luxurious cars. S = ZEARE0l iXbo] ol iBlol ZHE ofoj=0| 2cin g
M STt ofo I'=0I H71 4oL & S21 ks odXie] 2 ﬁ
(@) That’s not what my report says. ol 2 37| SICtn Lsh= (c)7} 7FEt AIHARICY, of %
(b) Could you lend it to me someday? 0|=0| 97 |2 El0] A28 (a)= HEGHK| ¢, TO|
(c) Not really. It’'s my dad’s old car. 421 71=0ll= HS 27| 20| SECHE L2 ko
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(c) A XI= ¢20t. O1A Ottite| 22HE Kok,

(d) = Ul ZRE R SAAZ|LL QL01, M How can | sort out this data?
siA HXlo] IE AEXFIE HT [E0IX| 22Tt 5= of W Use the spreadsheet application.

Xte| 2holl Xt7| Fgko| ofL|2}t ot ARC| XE 2= A M But | don’t know how to use it.
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(@) Let me walk you through it.
(b) It takes time to sink in.
(
(

T

ol% fanch_ o be into ~oil A UCt  luxurious
A2 5522 lend &2 FCt drive oneself
too hard xiilg At Sok=o(ct
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c) It’s evenly spread out.
d) | really appreciate your help.
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M | just came back from my vacation.
W How was it?

M 1 don’t even want to talk about it.
w

(@) On business or for pleasure?
(b) I understand. | feel bad, too.
(c) What on earth happened?

(d) How long was your vacation?
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on earth =Chx|

B (o)

Sylvia has really big and pretty eyes.
Yeah, she’s very attractive.
Her sister has big eyes, too.

s 2= =

(@) I guess it runs in their family.
(b) Oh, what a shame!

(c) I'lll keep an eye on it.

(d) Yes, they owe me big time.
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B (a)

Yesterday was my birthday.
Really? | completely forgot.
I’m so disappointed in you.

=T ===

a) I'll try to be there next time.

(

(b) I'll make up for it. | promise.
(c) But we made an appointment.
(

d) It’s better late than never.
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M The doctor said my mom has cancer.

W No way. Why don’t you get a second
opinion?

M | think | should. I’ll talk to my mom.

w

(@) Do you know anything about cancer?

(b) I recommend you go to Doctor Meredith.
(c) This is actually my second try.

(d) I’'m sure you’ll get better.
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Do you remember the name of the main
actor in the movie Desperado?

His real name or the name in the movie?
His real name.

= = =

(@) Aargh, it’s on the tip of my tongue.
(b) You name it. He makes it.

(c) He’s working under an alias.

(d) I didn’t like the movie anyway.
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main actor &% 812 You name it £20|= 251 2}
under an alias 71222

(@

You look very tired. What did you do last
night?

| stayed up all night studying for my final.
You should get some sleep before the test.

a) Okay, let me sleep on it.

b) Then, wake me up at two, please.

(
(
(c) No, | went to bed early yesterday.
(d) I guess you didn’t sleep a wink.
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M People say | take after my dad.

W | have never seen your father.

M Pl show you a picture of my dad. Here.
w

(@) You should look after your father.
(b) This picture really flatters you.

(c) You're a carbon copy of your father.
(d) You need to buy a new one.
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Li

sten to a conversation between a bank teller

and a customer.
W What can | do for you, sir?

M Hi, | want to change my password for my

savings account, please.

W Sure, just enter your current password here

first.

M I’m sorry, but | don’t remember my current

password. What should | do?

W Well, in that case, you should fill out this form

here. That’s all.

M Thanks. | really appreciate your help.

What is the man mainly doing in the
conversation?

(@) Trying to withdraw some money from his

account

(b) Filling out a form to change his phone number

(c) Requesting assistance to update his account

(d) Attempting to change his bank information
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Listen to a conversation between two friends.

M Rachael, | got the job!

W Really? That’s wonderful.

M Thanks. But | won’t start until October.
| guess they’re not so eager to have me.

W No, I’'m sure they have their reasons. Don’t
pull yourself down.

M Yeah, you're right.

W You never know. They might ask you to work
sooner.

Q What are the man and woman mainly
discussing?

(@) The man’s acceptance to a new position

(b) The man’s eagerness to work sooner

(c) The man'’s reasons for applying to a certain
job

(d) The man’s dissatisfaction concerning the
new job
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Listen to a conversation between two 5—’,&
colleagues.
W Hey, it looks like you have a lot of stuff to
carry.

M Yeah, but I’m all right.

W Are you sure? Do you want me to get
someone to help you?

M No, it’s okay. | think | can manage it. I'll just
take some now and come back for the rest
later.

W The storage room is too far away. It’s going
to take you forever! I'll just help you.

M Well, okay, if you insist.

Q What is mainly happening in the conversation?

(@) The woman is trying to have someone help
the man.

(b) The man is requesting for the woman'’s help.

(c) The woman is attempting to help the man.

(d) The man wants the woman to leave him alone.
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Listen to a conversation between two
classmates.

M Jen, did you turn in your biology report?

W No, not yet. I've had so many other things to
do.

Oh, no. Did you know that it is due tomorrow?
Really? It's already due?

Yeah, | think you should start right away.

s 2= =

All right. Do you think you can help me to get
me on my feet?

[9)

What is mainly happening in the conversation?

(@) The woman is asking the man to help her
stand up.

(b) The woman is complaining about the busy
schedule she has.

(c) The man is advising the woman to begin her
assignment.

(d) The man is chastising the woman for not

doing her work.
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Listen to two people asking for and giving

di
M

rections.
I’m sorry to bother you, but do you happen
to know where the nearest bus stop is?

W No problem. But | think it depends on where

M

you’re going.
Well, I’'m trying to get to this park near the
city hall.

W Oh, | see. In that case, you should go to the

bus stop across the street.
Do you mind telling me which bus | should
take?

W Not at all. You need to take the blue bus.

Q
(
(
(
(

st

a
b
c
d

Which is correct according to the
conversation?
The bus stop is near the city hall.

- =

The woman cannot go across the street.

-

The woman can take any bus she wants.

=

The park is close to the city hall.
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Listen to a conversation at a water park ticket

counter.

M I’'m trying to buy a season pass for the water
park, and I’m not sure what kinds you have.

W We have a family season pass and an
individual season pass.

M How much can | save from a family season
pass?

W Well, you can save about 200 dollars, which
is about 50% discount from the regular price.

M Wow, that’s great! I'll get that then.

W Okay, you just need to fill out this form here
with your personal information.

Q Which is correct according to the
conversation?

(@) The regular price of a family pass is 400
dollars.

(b) The man can only buy a family season pass
now.

(c) The family pass is cheaper than the individual
pass.

(d) The man doesn’t think the family pass is a
better deal.
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Listen to two students discuss a dormitory

policy change.

M | heard that starting next year we are going
to have to pay for our Internet access.

W Yeah, | heard that, too. | don’t think it’s fair,
though.

M Why? | mean, it’s not like we’re not using the
Internet.

W Yeah, but some people use it more than
others.

M So? What does that have to do with
anything?

W Well, | think it’s unfair for people to pay the
same amount no matter how much they use
the Internet.

Q Which is correct according to the
conversation?

(@) The man does not want to pay for the
Internet.

(b) The woman is unhappy with the new policy.

(c) The man does not use the Internet at all.

(d) The woman is paying too much for the
Internet.
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Listen to a conversation between two friends.

W
M
W

Q

I’'m not happy with my job.

Me neither.

Why, what’s the matter? | thought you
enjoyed your job.

Well, | like the work, but my new boss is just
too incompetent.

Hey, that’s why | don’t like my job either!

| totally understand how you feel. There’s just
nothing to learn from inept supervisors.

Which is correct according to the
conversation?

(@) The woman does not think her boss is

qualified.

(b) The man thinks the woman’s boss is better.

(c) The woman and the man have the same boss.
(d) The man plans to change his job soon.
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Listen to a conversation between two students.

M | really like your drawing. | never realized how
talented you are.

W Thanks, John. | really appreciate your
compliment.

M You're welcome. So, do you plan to pursue
art in the future?

W I’'m putting much thought to it. I’'m still
weighing my options.

M | envy you. You have options to choose from.

W Why? You’re good at sports, science, and
writing! You have many options as well!

Q What can be inferred from the conversation?

(@) The woman does not like the way the man
talks.

(b) The man can draw as well as the woman.

(c) The woman is good at several things.

(d) The man has more options than the woman.
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Listen to a conversation between two friends.

M
W

Q

Sarah, how’s business these days?

As you know, the economy is not doing so
great, so we are struggling.

| didn’t think your company would be affected.
Our total revenue has dropped more than
40% over the last six months.

That’s a huge drop! What is your company
doing to make up for the loss?

Everything’s a risk now, so we are just cutting
costs.

What can be inferred about the woman’s
company from the conversation?

a) It is going bankrupt.

c) Itis now in the red.

(
(b) It is spending less money.
(
(

d) It is pursuing new businesses.
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Listen to a conversation between a student and

a college clerk.

M Hi, | was wondering if | could withdraw from
my History class.

W Well, do you have a legitimate excuse?

M | think so. I've been sick for the past two
months, so | couldn’t attend the class
regularly.

W Did you notify your professor of your
conditions?

M Not really. But, I'm certain he knew | was
sick.

W Hmm... I’'m sorry, but | don’t think | can do
much for you here.

Q What can be inferred from the conversation?

(@) The man was not really sick the whole time.

(b) The woman knows the man’s professor
personally.

(c) The man should go elsewhere for assistance.

(d) The woman doubts what the man says.
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Listen to a conversation between two students.

W Have you noticed that the school is now
charging money for parking?

M Yeah, it’s a new policy to encourage students
to use public transportation.

W Yeah, but what about students who live far
away?

M Well, | guess you have a point there.

W It is close to impossible for me to get to
school via public transportation on time for
my first class.

M | think you should submit a petition to the
school.

Q What is the woman most likely to do next?
(@) Write a letter to the school
(b) Skip her next class

(c) Pay the parking ticket

(d) Request a form for parking
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This is a special announcement for all the
residents of Springfield. Today, we will be
conducting a routine inspection of the gas
pipes in the apartment complex, so the gas
will be shut down for the entire day. It will be
back on at 9 p.m., but that’s if the inspection is
complete. We apologize for the inconvenience,
but we need to prepare for the upcoming winter
when gas will be used much for heating. Please
contact us at the maintenance office if you have
any questions. Thank you.

Q What is the speaker mainly talking about?
(@) The repair of broken gas pipes

(b) A replacement of damaged pipes

(c) The inconvenience of not having gas

(d) The plan to check the gas pipes
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The roots of jazz go back to the early 1500s in
West Africa. During that time, it was through oral
tradition like telling stories or singing songs that
most of the African cultures were passed down.
And when the West Africans were captured and
sent to America, they brought their oral traditions
with them. It served as a means of educating
others of their cultures and communicating with
one another.

Q What is the speaker mainly talking about?
(@) The roots of African Americans

(b) The history of African language

(c) The origin of a type of music

(d) The oral tradition in American culture
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Many psychologists separate memory into
different parts, each of which is responsible for
a specific function in the memory formation and
retrieval. In the initial stage of memory formation,
there are two types of memories that are mainly
involved —the short-term memory and the
working memory. While a short-term memory
refers to a capacity for holding a small amount
of information, working memory refers to the
active process of holding and manipulating
information. In other words, while short-term
memory is inactive, working memory is the
active use of information at a particular time.

Q What is the main topic of the talk?

(@) The comparison between short-term and
working memory

(b) The definition of working memory and its
function

(c) The two distinct stages of memory formation
and retrieval

(d) The storing of information for a short period
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It is my pleasure to announce the launching
of our new venture with Capital Circle. We, as
a leading company in the US finance market,
have decided to seize the opportunity in the
growing Asian market by setting up a co-venture
firm in Singapore next year. We are planning to
hold five investor meetings both in the United
States and Europe to raise sufficient funds for
our venture. | am confident to say that with our
years of experience and strategy, our venture
will be more than successful.

Q What is mainly being announced?

(@) The status of the financial market in Asia
(b) The plan to move into a new market

(c) The five investor meetings in the US

(d) The new venture into Europe
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Cony Fan is one of the most energy-efficient
fans you can purchase in the market. Now that
the price of energy is higher than ever before,
we need to save energy, and Cony Fan is the
right choice. It will save you a significant amount
of money. Cony Fan’s patented fan design and
motor allow you to save more than 30% of
electricity every month. So, it’s time to change
your fan to Cony Fan.

Q Which is correct about Cony Fan according
to the advertisement?

(@) It has been awarded for its design.

(b) It requires a fan specialist to install it.

(c) It runs on a small amount of power.

(d) It is less expensive than most conventional
fans.
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At first, the Native Americans taught the
European settlers how to plant corn, make
canoes and smoke tobacco. In return, the
Europeans introduced horses, guns, gunpowder
and alcohol. However, as the settlers established
towns and cities, they pushed the native people
out. Sometimes the settlers bought land from
the natives at a ridiculous price. For example,
the Dutch bought Manhattan Island for twenty
four dollars’ worth of kettles, axes and cloth.

Q Which is correct according to the lecture?

(@) European settlers taught the natives how to
plant corn.

(b) The natives received twenty four dollars for
selling Manhattan Island.

(c) The Native Americans and Europeans helped
each other at first.

(d) European settlers took the lives of many
Native Americans.
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Thank you for calling the Compmaster customer
service. Our hours of operation is from 9 a.m.
to 5 p.m. from Monday through Friday. We are
currently unavailable to answer your call. If
this is for emergency technical service, please
visit our customer service website at www.
compserve.com and use our online one-on-one
tech service. If you have a question regarding
our latest products, you may want to visit our
main homepage at www.compmaster.com. For
other matters, please call us back during our
office hours. Thank you.

Q Which is correct according to the recording?
(@) Customers can only receive help through the
Internet.
(b) Customers are able to receive technical help
at night.
(c) Customer service is not available on
weekends.
(d) Customer service is limited to technical
service only.
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In the eye, there is a structure called the
retina. It is where the light that enters the eye
is processed. The retina contains many cones
and rods, which help us see. The cones are
responsible for the perception of color and very
bright light. On the other hand, the rods help us
perceive poor light. So, the cones are the only
ones that allow us to see color. The rods have
no play in helping us see color but are highly
sensitive, allowing us to see in the dark.

Q Which is correct about rods in the retina?
(@) They help us to see light and color.

(b) They are less sensitive than cones.

(c) They are more prevalent than cones.

(d) They allow us to see with little light.
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It is vital to check a patient’s blood type before
blood transfusion. There are four main blood
types: A, B, AB and O. Each is designated
according to an antigen, a special protein on
the surface of blood cells. Another aspect
that is considered before transfusion is the Rh
factor. It further classifies the blood into positive
and negative Rh factors. This process of
separating blood into different types and factors
is important because if a patient somehow
receives an incompatible blood, he or she may
suffer from serious health problems.

Q What can be inferred from the talk?

(a) People often receive the wrong Rh factors
during blood transfusions.

(b) Receiving the wrong blood type means
certain death.

(c) Checking the blood type is not enough
before blood transfusions.

(d) It is important to check the blood type first
before Rh factors.
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The US government has decided to bail out
more financial institutions with more of tax-
payers’ money. It is estimated that an extra
200 billion dollars will be spent on banks and
insurance companies to pay off their enormous
losses as part of the new stimulus package.
Against strong opposition by both parties of
Congress, the President and the Secretary
of Treasury have made their decision and
announced that it will be carried out this fall.
So, what are some of the implications of this
decision? Let’s find out.

Q What will the speaker most likely do next?

(@) Talk about the opposing arguments by
members of Congress

(b) Explain the reason behind the decision to
spend more money

(c) Finish talking about where the money will be
used in detail

(d) Discuss the effects of spending extra money
on US economy
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People were at times frightened by the
developing science during the 1800s. Many
writers would mirror this heightened discomfort
towards science by writing science horrors and
exaggerating the dangers of science. This is
how the famous novel Frankenstein was born.
Back then, people believed that by subjecting
dead people to high amounts of electricity, they
could be brought back to life. There was even
a term for this method, called galvanism, which
shows how much people believed such a thing
could be possible.

Q What can be inferred about galvanism from
the talk?

(@) It was how people came back to life in the
past.

(b) It was considered dangerous by scientists.

(c) It fueled the fear in science during the 1800s.

(d) It is now thought to be a myth by most
people.
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Venus is probably the hottest planet in our
solar system even though Mercury is closer
to the Sun. This is because unlike Mercury,
Venus has a thick atmosphere of greenhouse
gasses that trap heat from the Sun. So, life as
we know it cannot exist on the surface of this
planet because of the extreme heat. However,
up in the clouds, the heat is much milder where
the temperature is closer to that of the Earth,
and there is an abundant source of organic
compounds and liquid water needed for life.

Q Which statement would the speaker most
likely agree with?

(@) There is a possibility of life in the clouds of
Venus.

(b) Atmosphere is what is needed for a planet to
sustain life.

(c) Life may be present in the atmosphere of
Mercury.

(d) Venus is too hot for any life to exist on the
planet.
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1~2

Let me introduce Professor Stacy O’Brien. Dr.
O’Brien is a distinguished biologist who won the
McDougal Award for her thesis on the evolution
of whales. Interestingly, she is also somewhat of
an artist. She has a strong passion for drawing
and painting, and three years ago, she even held
her own art exhibition with her works. Now just
a couple of years ahead of her retirement, she
started to devote her life to science education
by combining her two different talents. Recently,
she has been publishing cartoons to help
teenagers learn science in a fun way. Parents are
raving about her cartoon books as they see their
children who were not particularly interested in
science immersed in her books. Today, she will
be mainly discussing how science should be
taught in a high school classroom environment.
Please welcome Professor O’Brien with a big
hand.



sl

Q1 What is mainly being said about Dr. O’Brien?
(@) She hosted an art exhibition for students.

(b) She is more of an artist than a scientist.

(c) She has devoted her entire life to education.
(d) She uses comics for educational purposes.

Q2 Which is correct about Dr. O’Brien’s books
from the talk?

(@) They consist mainly of stories about whales.

(b) They are received favorably by parents.

(c) They earned O’Brien a distinguished award.

(d) They are popular among science teachers.
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3~4

Attention, employees. The quarterly carpet
cleaning is scheduled at the Melbourne head
office for this coming Saturday. Please put your
chair on your desk before you leave the office on
Friday afternoon. If you have placed any of your
belongings on the office floor or in a communal
space such as a meeting room, please also
remove them. Your personal belongings could
be damaged during the cleaning, so store any
valuables or breakables separately. The cleaning
will start at 9 a.m. and will take approximately
five hours. Please refrain from entering the office
this weekend because the carpet takes time
to dry. For those of you who originally planned
to come to work on Saturday, we strongly
recommend working from home, so make
sure to take your laptop on Friday. Feel free to
contact me at 9036 if you have any questions.
Thank you.

Q3 How often is the carpet cleaned at the head
office?

a) Once a week

b

G

d

=

Once a month

- =

Once every two months

(
(
(
(

=

Once every three months

[



Q4 What are all head office employees advised

to do?

a) Work from home this Saturday

b) Remove their chair from the floor

(
(
(c) Leave their valuables at work
(

d) Dry-clean the carpet in the office
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As we wrap up our three day sales training
workshop for new hires, I’d like to introduce
a model called 70:20:10. When it comes to
learning to improve job performance, people
learn 70% of their knowledge from the actual
on-the-job experience, 20% from interactions
with other people such as feedback and
coaching, and only 10% from formal structured
education such as classroom lectures, reading
assignments, and e-learning modules. It may
not sound very inspiring now as all of you have
been very actively participating in this course.
But | don’t intend to discourage you. | just want
to highlight that you must put into practice what
you’ve learned from this training. Otherwise, you
will forget almost everything you learned. Try to
use the skills you’ve learned for every sales pitch
and negotiation. Continue to seek feedback
from your coworkers and managers. That’s how
aspiring sales representatives like you can grow.

Q1 Which one would constitute 10% of learning?
(@) Getting advice from colleagues

(b) Taking online courses

(c) Delivering a formal lecture

(d) Gaining hands-on experience

Q2 What can be inferred from the talk?

(@) The talk is intended for aspiring sales
trainers.

(b) The speaker downplays the formal training.

(c) The training session is about to end soon.

(d) The audience is being encouraged to ask
questions.
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Are you excited about the upcoming baseball
season? As baseball is a national obsession in
our country, we are surrounded by so-called
experts like sports commentators. However, we
know that, when watching the match, opinions
of fans like you are just as valid as anyone
else’s. But there has been no way for you to
be heard. The official sponsor of the National
Baseball League and the nations’ number one
selling sports drink, Teraraid is just about to
change that. Teraraid invites you to ‘Coach
Your Team’ by selecting the players who will be
fielded during preseason games between the
East League teams and the West League teams.
Votes are cast via mobile using special codes
found under the bottle caps of Teraraid available
in stores nationwide. The players given the
largest number of codes will be selected to play.
Quench your thirst and Coach Your Team with
Teraraid!

Q3 What is mainly being advertised?

(@) A special event to select a coach by vote

(b) An opportunity for fans to play in preseason
games

(c) A new way to buy sports beverages on
mobile

(d) A promotion allowing fans to choose which
players will play

Q4 What can be inferred from the advertisement?

(@) Consumers can vote more by buying more
drinks.

(b) Sports experts are not allowed to participate.

(c) Votes will be cast via mobile during the
games.

(d) Products with special codes are sold in
selected stores.
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Part |
1

M Glad to see everyone again in the office.
w

(@) It’s great to have you back.
(b) You will be missing me.

(c) I hope to join you someday.
(d) Relax, don’t be nervous.
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M How do you like the food at your company’s
canteen?
w

(@) Good for a home-cooked lunch.

(b) Well, not bad for the price.

(c) It’s worse than my company’s canteen food.
(d) Yes, my mother packed a lunch for me.
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W Excuse me. Is there a drugstore around
here?
M

(@) | advise you not to apply the cream.
(b) I'm a stranger here myself.

(c) I never get around to it.

(d) I have a sore throat and a cough.
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M Maybe | should have my hair dyed.
w

(@) I've had the same style for too long.
(b) I said | like your hair long.

(c) Ithink it looks good just as it is.

(

)
d) I’'m sure it will eventually die down.
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W | heard that the CEO’s son will get married
soon!
M

a) I'm sure it was a luxurious event.
b) It has been all over the Internet already.

(
(
(c) Yes, he has finally tied the knot.

(d) The CEO turned down the proposal.
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HESICE ()2 (c)= 21 AlMI0|E2 USEX| QLct,

02| CEO (Chief Executive Officer) Zlnz@dxt get
married Z=35iCH luxurious SEI22, AFX|AZE
tie the knot Z=5ict  turn down HZESICH
proposal et

He (b)

W Thank you for giving me that concert ticket.
M

a) We’re out of stock at the moment.
b
c) Sorry, I'm not available on that day.

d) I’'m glad the ticket was not wasted.

-

You can start whenever you are ready.

N

s W EAME EZ T0KYR.
M

a) X2 117} gL,

HIE AESIMIR.

c) &1L, T I Alzto] 2t =i,
M

OiM Cretolz.,

kS
A
=4
m

fo 2
re

s EAIE EINS A TUCHS 2o ENS 2 4 U= A
20l 5 4 U0IA] CHHO IS HRAS| (d)7F 74 A
HARICY,

0{z] out of stock x{7t gl= available AlZto| Q1=
waste 3Z[0| MC}

B (d)

W Shouldn’t we promote Gabriella to regional
manager?
M

a) Right. She wants an entry level position.
b) Yes, it's about time she was promoted.
c) She sure left the region to find a job.

(
(
(
(d) Let’s do a special promotion of her product.

aiidd W 7IERIAZLE KR 2 STIAFHOL SHX| ELIR?

=<

SHa OfH AZE XIREC 2 STINFHOF oFX| k= 21
oil Cish SO Lt £8&21 o748 H 4= ULt (d)=
promoteQ| CHE 20| 0|&Tt &7Eo|Ct

0{2| promote &ZIAIZICH EEsiCH regional XI<e]
entry level M| ofzff &H7le]  product XiE

He (b)
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M What seems to be the problem with my lawn
mower?
w

(@) I think the motor has a glitch in it.
(b) I guess you should take out a loan.
(c) They have no problem solving skills.
(d) It’s really difficult to maintain order.

A M A T 2= 71A0l FE& 2HP7F A= HE?
w
(a) ZEfof == Z&o| U= A 2R
(b) HES ZoAH =AHIR.
(c) 252 =AM sliZ 20| oI
(d) ZIME RXISH= 7| Y2 029
sie EC| Zh= 7|AP} OldeiA A7t ZREIUER 22 U

ooz 1 FHNE g F= (a)7t 7H HHEsICE (b)2l
loan2 EHXte| & lawnt 22 =SS 0|3¢e &F0|H,
(c)= problem& &5 AKEst &7-o|Ct

0i2| lawn mower Ztc| Zk= 717 glitch =2 28 take
out a loan tH&5iCH solve sHZSCH maintain
order ZME |X[GICH

HE (@)

III

W Do you root for any baseball teams?
M

a) I’'m not a huge fan of sports.

b) They are rooted in American culture.
c) | can give you a ballpark figure.

d) Thanks but | don’t play baseball.

s W Seist 0FE Qo7
M

sitA %%E}E OFEI0| =Lt EXleaz ACHA FAIA
QI E 0|52, SlrtH 2759 SHE & == T root,
baseball S OXte| &ofl LI2 HHoIE E5 ARES &
ol Relatt.

012l root for ~= S5ttt huge fan Zg=el H  root
gaa|etA sich - ballpark figure 22 4=X|

= (@)

10

M Could you clean the bathroom this evening?
w

(@) I'll do that on my way home.

(b) Yeah, you can take a shower first.

(c) I'll never forget your kindness.

(d) I would, but | have to work late hours.

e M 2= MEo| 24 & Fadlh S21?

w 5
(a) ol 7H= 2ol &), 5
(b) 8. & AFUIRE] 5fed & S
(c) hlo| 2iHZ Hri WX| 28 FHoIR. as
(d) 1247 AR SADIX] Lot .

s 24 JAE FESK=E Uoll HE2| 2AE #Sish= (d)
HESICE (d)2] | would, but ~2 YE0| 71
HBHCZR, 5t AX[2F CHE o] Qo =eitth= <ln|
OlC}. bathroomt 0| U= TR (b)2l take a
shower 01| HHEX|X| LS =olStTt.
0{%] on one’s way home Zloz 7k= =50 take a
shower AF5iCH work late hours =AEX] stct

Part Il
11

W Why were you late this morning?
M | missed my train.

W Again? What happened?

M

(@) | forgot to set the alarm.
(b) Stop making an excuse.
(c) The train station is very close.
(d) Please have your ticket ready.

sl W 2= OFEol of =RALIR?
M 7IXE sRsUCh
W EEQ7? OfEH| & UO|E?
M

a) A1 SEE 2 2ol
JRFSIAIZE.
2 ol TR,
FEESCESNEY
s XI2tet ERIOIA 7IRKE £ OIRE 2 ixte] 2o

Cig SEoZ Al7lel 2Es Adsh=s AE LUt 6t
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Did you make an appointment, ma’am?
| did. My last name is Gupta, G-U-P-T-A.
| see. By the way, is it an Indian name?

a) No, you don’t have a thick accent.
b) Check the appointment book.

c) It’s quite easy to pronounce.

d) No, my family is from Pakistan.

o[4S BHLIR?
M2 Z2E0R, G U P, T, AR

Lich T3], Q= 0I5I7tR7?

=
Aol
O FAHIA
E

o
1A |
|:|

d) Ot, N3] 7}52 mi7 |AEF EA10[0f|2.

OXIe| 0|EE EX 2l O|ERIXIE 2= EXIe| 2ol
Ql= OIF0| SH=X| OFHX| #5]11 U= (d)7t 7+ =™
SICL (b)= appointmentE S2 AF25H sXo|ct,
make an appointment 2tk of&S St

last name 4 thick &gt accent Z&, o{=
pronounce 2S5tk

@

Do you know when this semester ends?
The last week of June. Do you have any
plans?

| have to take a summer course because |
flunked economics.

Join the club. So did I.

At least you passed it.

Right, the economy is bad now.
Congratulations! You’re so smart.
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M O[H &t7| HAXN| ELt=X| OFL|?
W 62 OtX[t = 22 AHZo[2te UA0?
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L
N

ro

>

AL L= THAE.

b) 0 HAEWOP
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= [=]
Sofalll & gL E‘—E._PEH—W}

d)

ZH[olM s oiE ZZEE S010F Bith= Al
2ol {I=5HH XpilE :LEHO*Em sh= (a)7t 7F&¢ Xt
HAAZLY join the club2 H2| AIHE 2IZE mf M4

0|H ‘&2 ANt ElCf2t= °|DI0IE} economics2t
economy= A2 S50| CHE2EZ HIEH S S0 it
XIX| =S Foleict
semester st7| flunk SA[GHCH
pass s2fsict  economy Zx|

@

economics ZH[st

Do you have any brothers or sisters?
Yes, one brother and two sisters.
Are you the baby of the family?

a) Yes, I’'m married with a baby.

b) Well, | should ask my parents.

c) | was a baby twenty years ago.

d) I'm actually the second youngest.

WKL X SH| ALI?
M 8, =Xt X St GIXE EH & U
W U7} 7EE 01 SfLiL?

<

(8) 2. 't 7I20]2 Of0[7} QUoH.

(b) A, BBt S0siof o,

(c) ' 201 Foi| 07 %X,

(d) Al LollAf = wnfor,

7= B olob[stod aiLiLin 2= ol 7ha xaE
SEFS XHAIO| ZRHRIX| 0[0F[He (d)OICk,

2| the baby of the family 2L{
= (d)
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W s this your new tablet computer?

M Actually, it’s my smart phone.

W Wow, the display is as big as a tablet PC!
M

(@) Yes, I'll pick up the tab.
(b) You bet. It sure is.

(c) Do you want it fixed?
(d) I'll call you back later.

A1

=

ol
=

O7 Ul M EHES! AHFEIL?
A2, 017 W AOKEZ0|0F,
22, 2fH0| EfSS! PCRIZ0IL 24|

= = =2 =

(a) 22, L7} A,
(b) 220IX|. F T2H,
(c) O|7 OX|D AL|?
(d) LISoll ChA| =t

s AOEZQ §PI'OI H% 2 PCRIE Aty AHEsk= of
Xie| 2ol AMeE QIgstEM TXez S5k (b)7t
ZEsitt

oig| display a1 pick up the tab 7SI AAct
You bet 220[x| call back CtA| Fak5ict

=e (b)

W How about going to the movies today?

M I’'m exhausted and | had a bad day at work.

W Alright. We can always catch a movie on
Saturday.

M

(@) Yes, it’s the best place to sit.

(b) I have a long commute to work.

(c) | like that better than going tonight.
(d) But | worked overtime yesterday.

shal W 25 Fat 22 7H= A ofuf?

M LE 7 FRIBZIStECt SIAjOfA] 2UEIO] o E401,
W T2, EQ20l= By IS 2 4 UL
M

a) 12}, o717} RI 2| B2 fzlok

a
b) o 72| EElZaH.
c) 2= 7h= AECH 3| HR0H,
d) SEXI2E Of&| =1k ZF3H0H.

(
(
(
(

2
Jor

sl =g NS (e
Sk= OofXte] Zoil S2lst
(©

0 24| [0t 2k A= ()7 Chat 2tofl 7He A

catch a movie &3t 2t commute to work
ZE|Z5ict work overtime =1t 225t

B (o)

M Nice to meet you, Ms. Kim. I’'m Jim Smith.

W Oh, you’re Jim from the General Affairs team,
right?

M Yes. Welcome aboard. Do you need any help
today?

w

a) No thanks, I’'m already aboard the ship.

(
(b) ’'m really excited about my new job, too.
(c) Yes, I'll finish it as soon as possible.

(

d) Thanks, but everything has been taken care
of.

sl M ORILEAM BRESLICE 2 MAE, & A0|ALCE

W o}, EEE0| Z0JA|IE?
M U] YA FSHeIR. @5
w

A =20] 2R A ALR?

(a) Ok-I2. & o[0] HHol] Rt

(b) M= A LX[2[of O SH AL
(c) Ul 7tset o el Z2LAIR.

(d) TRX|2E ot M2|=IAHL.

sie =320| EREK| 2= gAte| Zofl A AR KXt

SHe=Z Jhe XEet A2 (d)oICk aboard= E35| Hif
Lt g7 |ofl Ef, ES&3l0d2k= 2j0|2 A0[X|2t chstof|
M= MEZ 712lst0d, AUXIE'2Rh= 20|22 ALY,
2| general affairs %
2| take care of X2[5Ict
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2| exhausted X[zl 7|Z124%Ist  bad day ZI0| Li

as soon as possible 7ts5t
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18 sl MSAC| 28 71242 2= Lol chaf ‘THA| &ZFolet
= 2l0|2| every hour on the hour2t1 Eot= (b)7t

W Are you trying to call your son again? 7HE RIAAZLY. (0)2] leaves 52 HH{E 0125t &
M Yes, but he has not answered my call yet. golct.
W Do you have any urgent matters? o{z| traffic 2= whenever ~& = SHE
M leave it up to ~oi[A| 27|t
(a) How about sending a text message? 2 (b)
(b) That’s what really matters to me.
(c) Actually, today is his 20th birthday! 20
(d) Maybe he’s studying in the library.
M Monica, I'd like to go on a vacation in the
st W ORSOil &£ M2kt 27127 first week of October.
MU, OFX M| TStS 2A| BOPMS. W Sorry, but could you postpone it until things
W R S8t €Ol U= Ho=? get back to normal?
M M Okay, if you really want me to.
a) =AF HAIKIE EUX] 22Me7? w

b) 274 X{giH| Y2 SLE =X,
C) A2, 20| 0152 A7 Hij Mool

(@) Yes, you could use some rest.
(b) Thanks. | hope you have a safe trip.
d) ofaf =AM SESIL ULt 2R, (c) 1 do. We are in an emergency situation.
s 2 got U2 OlS0A| AlS Tskelals ARIKIE 2= (d) All work and no play makes Jack a dull boy.
OfX[2| Zol| OFS2l o7 | miZo 1!
0I9E Wsl= (c)7} 7Hat XIHARILE (@)= X0l 5H siA M 2LZE XN 108 A S0l F7HE 71 A2,
= 2 9l gixjel HPto = MESIC} OISR 20| Faate W7iK| A7 (2 4= ALIR?

w

QLI 1 = IG5 o
0l# answer one’s call ~2| Tst= 2t urgent /53t M B0(2, 3 27l HoHIHT.
w

matter 2x|, S25iCt text message &t HIAX|

B (o)

=X Lg*_ﬁ %2-.._-3,_ ARl EHO

M How long does it take to the airport by sie EXIA Ao ZAsHE ti7iX] §71E SV Eele
shuttle bus? AL 4 U= U2 T 0|RE Yshk= (0)7H 7MY A

W About two hours, if the traffic is not bad. ZolCh LIHX| MEiX|= 25 HXIolA {71E si=e 4

M How often does the bus leave? ? &5 U= 2olct

w 0{2] go on a vacation 7| 7iC} postpone O|=Ct

get back to normal Z&st=lct  could use ~7t

Zesict emergency HIMAEY  dull RES

(@) Whenever you have time.
(b) Every hour on the hour.
(c) I'll leave it up to you. 2 (o)
(d) You can transfer to the subway.
s M MEHAZ ZeIX| Lot Z2|&?

W X7t SIX| 2oH 2A 2t HER

M HAE=Z & 7402 UXIR?
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21

Listen to a conversation between two
classmates.

M Anna, you went to sociology class today,
didn’t you?

Of course | did. Why?

Could you lend me your notes, please?
You were absent again?

E

Yeah. Sorry to bother you but | need them to
write the report.
Okay. See you at the cafeteria at five thirty.

O =

What is the man mainly trying to do?
(@) Apologize for being absent from class
(b) Attempt to borrow the woman’s notes
(c) Ask the woman to write a report for him
(

d) Give back notes the woman lent him

L

O =22 =224
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0{3| sociology Atzlst lend 224 Z=Ct  bother &7tAIA|
sich be absent from ~of ZASICH apologize
Atatsict attempt Al=3iCH borrow 2i2|ct

e (b)

22

Listen to two colleagues discuss a new office
layout.

W | can’t concentrate on work these days.

Is it about the new open-plan office layout?
Yes, it’s very distracting.

Yeah, it’s hard to focus when you hear all the
noises.

= ==

=

People are working longer to do the same
amount of work.
M | should talk to the CEO.

Q What are the man and woman mainly
discussing?

(@) How to stay focused in a noisy environment

(b) Why employees chose an open plan layout

(c) How a new office layout has reduced
productivity

(d) How to persuade the CEO to change his plan

SHA A ARAL BHIOf CHet & ZRISE 7to] cafILICY,
3 4 0],

A A =0l 32?

W Q= =g E

=
u
Ho
to
A
i
|'l'|J
1=
=

Jaf, Friet A30| S2l=tl HSsh/| &AL

=]
ARIS0| 22 YSS X5 of o Ustn

= 2= =

QURIOF,
CEQO1I7i| oH7[sH 2ozt

M
Q EXIt 67} F2 o=5i1 U= H2?

) DA B0 24 TSI B
b) HigiS0| o= e

) M2 AFRA ?UU r O MAMS XotAIZI=X

) AElS == CEOE ASshe g

s oRtE 2E ;ELHMi At
A R0 LRl LS
St of @ef Ysto Qlck =
2tN CHEte| =E LKE2 2 ()7t 71 MEsIch

(@
(
(@
(d

?ﬁ
S
[
[l
{0
1
g
10

0i2#|] concentrate on ~0f Z&siCt open-plan 22
EMZIal0lS A4S 715 HE)  layout HHX|, A7
distracting 0tS2 42t sk=  productivity A4t

0
m

tal s 37

L 191 1en1oy




23 24

Listen to a conversation between two Listen to a conversation at an office.
coworkers. M Hi, | have an interview here today.

W Are you taking a day off again tomorrow? W Did you apply for an engineer job?

M Yes, | could use some rest. M No, for a security guard position.

W Wouldn’t you rather save your vacation days W You aren’t expected for another fifty minutes.
for summer? M Sorry. | happened to take an early train.

M No, | prefer spreading out my breaks. W It’s okay. Please have a seat. I'll call the

W Are you sure you won'’t regret it in summer? manager.

M Yes. | don’t like going on a long vacation. Q Which is correct according to the

Q What are the man and woman mainly talking conversation?
about? (@ The manager is out of the office at the

(@) The man’s plan for the next summer vacation moment.

(b) Whether the man has saved enough for (b) The man has arrived earlier than expected.
vacation () The woman did not expect the man to come.

(c) The man'’s preference for several shorter (d) The man hopes to work as an engineer.

vacations

(d) Where the man wants to go for his leave st ARFROIMS] THERLICE

tomorrow M QHESHMIR? @5 047[0lA THEO| U=HIR.
W RAIX|LIo{Zol| SAlBHIALIR?
shA F RYSE Zte| CHStiL|Ct M Ol|R, ZH|Z0|L.
W LH & 2R} 0?7 W 502 =0 2A0f 5}EE1IR
M 8 & +l21 M EASH|CH 7|12 L& EFA| EHAS.
W OS2 2l FYUS & oA == Al Auf? W HTSLICE QoM. THLIK £3] 2412,
M ORI, it ZIHA 4= 7| Zo} @ el okt g2 227
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(a) HHXIS| CFS o2&} A d )uxr: QHX|LIOIZ 2512 HIRITH,
b =7 Sl MES 25| sH=
O EvI RIS Pe TES S e st OfRH= P} PRl 505 S0l € el AZiskn 9l
L| o = Sah=
(c) EXI7t O] el #2 T MSoh= A QT LKH= T[XIE LB ERA| SHA] OIS AZHEICH 2
(d) L EXP7HR71= O 717 ] Heh=x ) Q| SIQICH SH02 AT MEHX|= (b)OC OiXt
s R | S kEc B ofef 4l 22 Mt 7} LIRS ZRI2Ctn A LR} SAHESR! 2 of
= CH30|=2 ()7t LSLCE LI, OXk= AP 2= 2 Y1 QUUX|TE 2R b G

§ o) AL SEHS e
0i2| day off (2% -22) k=€ could use ~7} EUS FOICE

Z25lcHneed) spread out 57 HXCE break 41 0l3| security =2t ZH| position xi2|, 22| expect
preference M5, o= leave §7t olafsict  at the moment &Il XI2
HE (o) e (b)
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Listen to a conversation between two friends.

W Did you hear that Sylvia’s house was broken
into last night?

M Yes, and fortunately her family was not there.

Thank goodness no one was hurt.

=

M The burglar just got away with a few hundred
bucks.

W I’'m worried that the police may not have a
clue who did it.

M Right. There’ve been similar cases in the
neighborhood recently.

Q Which is correct according to the
conversation?

(@) The burglar fled the scene with nothing but a
few boxes.

(b) The burglar who broke in Sylvia’s house is
still at large.

(c) Recent break-ins in town were committed by
the same person.

(d) Some of Sylvia’s family members were at the
scene of the break-in.
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Listen to a conversation on a college campus.

M Excuse me, | can’t log into my student
account.

W The college website is now undergoing
scheduled maintenance.

M What? But I’'m supposed to upload my
psychology homework by today.

W You know, the service suspension was
announced last week.

M Uh-oh, | was absent all week due to
volunteer work. What should | do?

W Well, the service will resume in four hours.

L 191 1en1oy

Q Which is correct according to the
conversation?

(@) The website maintenance is taking longer
than expected.

(b) The man has asked his professor to move
the deadline.

(c) The man was not notified of the planned
service interruption.

(d) The man will be able to access the website
in two hours.
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Listen to a conversation between two friends.

W I’'m striving to adapt to my new job.

M But you said you’re satisfied with the work.

W | am. But it’s my colleagues. They’re friendly
but we hardly ever interact.

M That’s common with back office jobs.

W Yeah... | miss my old job. It was all about
teamwork.

M Try spending time together after hours like
we did when we worked together.

Q Which is correct about the woman according
to the conversation?

(@) She was discontented with the work she
used to do.

(b) She is spending much time with the man
after work.

(c) She is overwhelmed by frequent interaction
with coworkers.

(d) She expected more collaborative working
environment.
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Listen to a conversation between a waitress and

a customer.

M Excuse me. Are these walnuts in my dessert?

W Yes, sir. They’re locally grown walnuts.

M But there’s no mention of walnuts in the
menu.

W Well, not all the ingredients are listed on the
menu.

<

You know what? I’m allergic to walnuts.
W Oh, I’'m terribly sorry, sir. I'll get you another
one without them right away.

Q What can be inferred from the conversation?

(@) The man’s dessert was not made to order.

(b) The restaurant does not use imported
ingredients.

(c) The man intended to order a dessert without
walnuts.

(d) The restaurant does not prepare a bespoke
dish for diners.
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Listen to two friends discuss a recent protest by

environmentalists.

M The protesters in Stanley Square committed
a serious gaffe.

W Yeah, they left the park in an utter mess.

M That’s not how environmentalists are
supposed to act.

W Mountains and lakes aren’t the only things
that deserve their attention.

M Right. Their inconsiderate behavior is now
grabbing the headlines.

W They lost the support of our local community.

Q What can be inferred about the protesters
from the conversation?

(@) Their littering the square was a calculated
strategy.

(b) The media focused on their environmental
cause.

(c) They demonstrated for cleaner mountains
and lakes.

(d) Their environmental message was marred by
their behavior.
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Listen to two coworkers discuss a company

policy change.

W Did you hear the company will revoke
overtime?

M Yes. | think it’s absurd.

W | agree. Now we’ll have to work evening
hours without getting paid.

M And our base salary is not enough to make
ends meet.

W Management said flexible working hours will
compensate for reduced income.

L 191 1en1oy

M The labor union should do something about
this.

Q Why are the man and woman upset about
the company’s new policy?

a) It will phase out flexible working.

b) It will decrease their hourly wage rate.

c) It will abolish payment for working extra hours.

d) It will undermine the labor union’s authority.

5t = xistE =0l tiLIC,
SAJOIA R 22 452 HXBICHS 0[0F| SRA01?

w

M 8. E{RLICH 2 fsh,

W SO0k Olx| 8= 2 2oHM M Z2Z sHok
Sith= 7ok

M J2|1 22| 7|2ge2= MR B AV &S0,

W ZETI2 BEREISEH L SAUAE HAS & 72t 6,

M O Loj| chall .=sS=&to| 217} 5Hok 5H.

Q =Xt 6XE7L SIAt| Aff H2Hol| Cholf 37t Lt Ol RE?

a) EFEOEANT HAXSZ HX|E Z40(7| thE|

b) 2=2| AlZtd 2047t 201 A0|7| ol

c) =1t L20f| chst ~Zo| HXIE 07| ol

d) =&0o| A7t efstE Ao|7| uhFEof|

A 2|Af7f =0t 22 S HX[GIH o2 RUS2 02
X| 25t 022 afok o7 | W20l X2t o4Xt

E251D T} mabA (o)7h 7Ka Matsict &

20| SjRICt s 7 [250| shddsts AR

0= A2 OK2Z (b)= TEO| E 4+~ gict

Aoy
ol 4n

o nz

N
_

Cte

=
o
|_
=

_I-'.l
urLHEO

o
2
nH>|

5

.

7t

revoke HX[Z3[5lct overtime =22, =2
2 absurd EIFLIgl= make ends meet 712
Ho A oE ot flexible B2%21 compensate
for 245tct reduced Z4Ast income A5
labor union ==&} upset sl £45H phase
out tHAES = X[t hourly wage rate

Azt abolish HX[slct undermine 2fstAl7 |C
authority #¢!

= ()

Jor

0z
i
Ha
on
ix
~
N



Part IV
31

Hello, Mr. Stevenson, I’'m calling from the Crown
Bank. We were going over your application for
a new credit card, but I’'m afraid that we need
more information about your current job. Please
call me back at your earliest convenience and
provide me with more details about your job.
You can reach me at 301-554-0782 between 10
a.m. and 6 p.m., Monday through Friday.

Q What is the purpose of the phone call?

(@) To inquire of Mr. Stevenson about his
personal data

(b) To provide additional information about the
bank

(c) To request a phone call to the bank in the
morning

(d) To tell Mr. Stevenson the status of his credit
card
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As some of you already know, Washington
D.C. was built with political considerations. It
is located in the middle between North and
South, providing an image of balance. However,
it was once mostly a swampy area with most
parts infested with mosquitoes. Actually, many
politicians were against the plan to build the
capital of the US in such a harsh environment,
and many people tried to stay out of the area.
Yet, against all odds, it is now one of the most
important cities in the world.

Q What is mainly being discussed?

(@) Why people tried to stay out of Washington
D.C.

(b) The difficulty of building Washington D.C.

(c) The area where Washington D.C. is built

(d) How Washington D.C. became a powerful
city
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Ladies and gentlemen, our flight to Canberra
will be departing in twenty minutes, and we
will begin the boarding process. We ask that
passengers with children and those who are
physically challenged to board the plane first.
After that, passengers with tickets marked
from A to D will board next. Due to a technical
problem with the boarding gate, we kindly ask
business and first-class passengers to wait until
everyone has boarded the plane. Thank you.

Q Who should board the flight last?
(a
(b
(c
d

=

Passengers with family members

-

Passengers who are standing in line

A

Passengers with first-class tickets

=

Passengers who are on business
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Some people believe that taking a cold
shower will help them sober up when they
are drunk. This is just one of many unverified
home remedies people use without asking any
questions. Let’s look at another example. Some
people drink carbonated beverages when they
have an upset stomach, but there’s no evidence
of it actually helping people. Although most of
these home remedies lack logical basis, many
people still practice them nonetheless.

Q Which is correct according to the talk?

(@) People should take warm showers to sober
up.

(b) Most home remedies are dangerous to
people’s health.

(c) Carbonated drinks do not help ease an upset
stomach.

(d) Water is better than carbonated drinks to
sober up.
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Today’s lecture is about John D. Rockefeller,
an American industrialist and probably the
richest man to ever walk on Earth, who made
a fortune selling oil. Many people know him
by his charitable foundations and support for
education by establishing schools such as
the Chicago University. However, what most
people fail to see is that he was one of the
most ruthless businessmen to dominate the oil
industry. Rockefeller crushed his competitors
with no mercy and took extreme measures to
keep his workforce under control.

Q Which is correct according to the lecture?

(@) Rockefeller was a cruel businessman despite
his charity work.

(b) Chicago University was established to
educate Rockefeller’s employees.

(c) Rockefeller had less interest in supporting
education than making money.

(d) Competition in the oil industry was fierce
because there were too many companies.
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In 1939, a famous baseball player Lou

Gehrig was diagnosed with a disease called

amyotrophic lateral sclerosis, or simply ALS. It's

a rare disease that prevents the communication

between the brain and the muscles. Two years

later, Lou Gehrig died of the disease, and now

the disease is also called Lou Gehrig’s disease.

Most people die within five years of getting

the disease, but some people survive longer.

The best example of a long-term ALS is the

renowned astrophysicist, Dr. Hawking.

Q What can be inferred about Dr. Hawking?

(@) He is the only survivor of long-term ALS.

(b) He only has a few years left before he passes
away.

(c) He contracted ALS from Lou Gehrig.

(d) He has had ALS for more than five years.
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Everyone, we are nearing the last part of our (c) m3) 2 U
guided tour. Our bus will soon stop across from (d) B AFE zé%q | 2x

the West Facade of the Saint Walter Church.
Upon looking at the Fagade, some of you may
think it’s different from what you expected or
what you saw on the Internet. That’s because
the most iconic Fagade of the church is the East
Facade on the opposite side. Among the four
fagades, the East Facade was the first one to be ZE (o)
completed as the symbol of the whole church. |

will give you plenty of time to take pictures of all
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of the facades except the North Facade, which (a) =% TA=

is currently closed because of renovation. But (b) MZ TRAL=

we will later enter the building from the South () &% TA=

Facade, which has recently been reopened after (d) %= A=

lengthy repairs. S BX DIASTL HATALR SERICHD oo (a)7t &
Q37 What is the main topic of the talk? EoIct,
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(b) The attractions inside the church building
(c) The itinerary for a tour of the church
(d) The purpose of taking photos at church
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Q38 Which attraction is currently off limits to = (@

visitors?

(@) The North Facade
(b) The West Fagade
(c) The South Fagade
(d) The East Facade
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39~40

Class, let me clarify the difference between
consecutive interpretation and simultaneous
interpretation. During consecutive interpretation,
the speaker and the interpreter take turns. The
speaker has to pause after several sentences to
allow the interpreter to translate. Consecutive
interpretation is commonly used in interviews,
small business meetings, or summit meetings.
In simultaneous interpretation, on the other
hand, the interpreter translates at the same
time as the speaker is talking. The interpreter
sits in a sound-proof booth and speaks into a
microphone while listening to the speaker via
a headset. Then, members of the audience
listen to the interpretation through earphones.
Simultaneous interpretation is ideal for
conferences, lectures, or presentations that
deliver a lot of information. Most importantly,
simultaneous interpreting always requires at
least two interpreters. The reason is that a
simultaneous interpreter can only focus for
fifteen to twenty minutes at a time before having
to take a break as the level of concentration
required is insanely high. Therefore, you must
hire a pair of interpreters, who will alternate
every fifteen minutes or so.
Q39 Which is correct about simultaneous
interpretation according to the lecture?
(@) It is hardly ever used for business meetings.
(b) Interpreters should take turns to translate.
(c) The speaker should pause after a few
sentences.
(d) Interpreters can work for only twenty minutes
a day.

Q40 What can be inferred from the lecture?

(@) A simultaneous interpreter is paid more than
a consecutive interpreter.

(b) Consecutive interpreters tend to choose to
work by themselves.

(c) Certain equipment is needed to use
simultaneous interpretation.

(d) Simultaneous interpreters are mostly good at
delivering a lecture.
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wristct, #Hzot sttt deliver a lecture 22l Sict
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Part Il
M@ 12(@ 13(c) 14(@) 15(c) 16(c)
17(®) 18(d) 19 (b) 20 (c)

Part Il
21(c) 22(d) 23(c) 24(b) 25() 26(c)
27 (c) 28(b) 29(b) 30(c)

Part IV
31(c) 32(d) 33(c) 34(a) 35() 36(c)

PartV
37(@) 38(b) 39() 40(c)

M You remembered our anniversary!
w

(@) How can | forget?

(b) Never mind. I’'m fine.

(c) Perhaps some other time.
(d) Today is okay with me.
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mind 414 Ax| 0t some other time Ct= i, 2HI7t

e (a)

W Make sure to take an umbrella just in case.
M

(@) Right, | should address climate change.
(b) But I couldn’t find it in the case.

(c) It’s an umbrella term for many types of
raincoats.
(d) Thanks for reminding me. | almost forgot.
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W What should | do to log into the network?
M

a) Turn on the speaker first.
b) Enter your student number.
c) It comes quite handy.

d) You can access it online.
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Qltsict dot quite ti?  handy He2[sh &8st
access &tolct

Heb (b)

M Excuse me, is there a stationery store
nearby?
W

(@) They sell pens, pencils, and notes.
(b) You can ride a stationary bike there.
(c) It’s one block away from here.

(d) Stay here and it will pass by.
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02| stationery store 225+ nearby 71710/o]
ride EICt  stationary HXI5t pass by X|-f7tct

B (o)

W Who do you think should fix this issue?
M

(@) I'll fix you up with my old friend.
(b) It was already issued last week.
(c) But he didn’t cause the problem.
(d) Whoever is available, | think.

iAW O] 2MIE =7t siZshor & 24 &Lf?
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e (d)

W You sure know where you can get the best
deal!
M

(@) Yup, | always look for good values.

(b) Right, | learned how to deal the cards.
(c) To know is one thing, to teach is another.
(d) Yes, it’ll be quite expensive indeed.
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deal 72 look for &ttt deal Li=0{ FL0f, (F1E2)
£2|ct quite 0i?  indeed &%

He (@)

| think Jenny is coming down with the flu.

a) Her hair comes down to her shoulders.
b) She will come up with a good idea.

c) Maybe she picked up a bug in the office.
d) | don’t think she asked for a raise.
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come up with ~& ZIofLHCE, Li=Ch
ask for &35l raise Q14

HE (o)

W Have you settled on your term paper topic?
M

(@) | settled down with a newspaper.
(b) No, | submitted mine yesterday.
(c) It was favorably reviewed.

(d) I’'m torn between two subjects.
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be torn between ~ Atoloi|M ZT|E EX| Z5lct

B (d)

M Could you look through this document,
please?
w

a) I’'m overwhelmed with other work.

(

(b) Sorry, but we’re on a tight budget.
(c) Only after | thoroughly go through it.
(

d) | would but | have nothing to do now.
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2A1 be overwhelmed with ~0il ¥==|ct on a
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=

Do you mind if | tag along with you to the
grocery store?
M

(@
(b
(c
(d

=

As long as you are ready by noon.
Then bring me along with you.

- =

I’d love to keep up with you.

=

It is tagged with a serial number.
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Part I
11

W These roses look so pretty.

M Yes, roses are my favorite flowers.
W How much were these?

M

a
b
c
d

=

Twenty percent off the price

-

Very much like sunflowers

-

| don’t know. They were a present.

(
(
(
(

=

| went to the flower shop alone.
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M Hey, looks like you’ve lost weight.
W I'm glad you noticed.

M Are you on a diet or something?
w

(@) | commute on foot these days.
(b) Yes, I'm eating out today.

(c) Thank you for your advice.

(d) I wish | were chubbier.
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be on a diet Cio|0{E £21  commute
EZ[EsHeICt on foot Z0iM  eat out 2MAl5ICH
chubby EAEAGH EE5t

e @)

Nicole, are you leaving now?
Uh-huh. Do you want me to drive you home?
Yes, please, if you don’t mind.

(@) Never mind. I’m leaving anyway.
(b) Thanks. | really appreciate it.

(c) Okay, let’s get going.

(

d) Right. See you tomorrow then.
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W Oh my God! Garry, are you okay?
M Ouch. | think | sprained my ankle.
W You should go to see a doctor.

M

a) But | cannot move an inch.

(

(b) You are going to be alright.
(c) Take this medicine every day.
(

d) Please accept my apology.
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W Are you really participating in a bike ride?

M Yes, it’s to raise funds for our charity partner.
W Great. But be careful not to get hurt.

M

(@) Okay, Il make sure to tell him about it.
(b) It’s to help the less fortunate.

(c) Thanks. I’'m training twice a week.

(d) Yes, | made a point of doing so.
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Have you decided on your honeymoon
destination?

<

No. Mari wants to go on a cruise but I’'m not
sure.

W What? Isn’t a cruise usually for older people?
M

a) Her older sister is married, too.

b) Right. I'll invite only a few friends.
c) Not only that, it’s a rip-off.

d) Yes, and it’s an arranged marriage.
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( .
(b) 2to}. ZI172 = Ot oSt 7ot W Are you still looking for a roommate?
() 120t Oz} H7X[oF M Yes, but | haven’t found one yet.
(d) 2, =04 Z@=o[o} W Have you tried the student housing service
center?
sia MEGHoR FEM RS 7= 2ol Chal &lixi2l | M

a) | will, as soon as | find a housemate.
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b) But I'm searching for a new roommate.
c) | have, but | prefer central heating.

(
(
(
(d) I didn’t even know there was one.

012 honeymoon 4=0f3 destination S%x| go
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W No offence, but | kind of saw it coming.
M
w

a) You deserve a scholarship.

1l

b) You often skipped classes.
) | know you worked hard. =
d) Your grade is higher than mine. o, Zlo| AlAol| 25 0[0F7 [H= (c) LS Chste| aiat
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M Hi. I'd like to buy some cold medicine,
please.
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W Can you tell me what symptoms you are
experiencing?

2
Jor

a) Serious side effects are not common.

-
2

b) It’s better to cure individual symptoms.
c) Do not trust home remedies too much.
d) It’s okay. There is a flu going around.
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W Why don’t you try on this sports jacket, sir?
M Well, isn’t the color a bit too loud?

W But | think it goes well with your blue jeans.
M

(@) 1 agree. It will look great on you.

(b) Il show you something in a different color.
(c) I'd prefer something more formal.

(d) It is probably too early to tell.
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21

Listen to a conversation between a waitress and

a customer.

M Excuse me, waitress.

W Yes, sir.

M My entire company is eating but my order
hasn’t come yet.

W You ordered a special dish that usually takes
longer to cook.

M | know what you mean but it’s been twenty
minutes already.

W I'm sorry, sir. I'll go and check the kitchen
right away.

Q What is the man mainly doing in the
conversation?

a) Asking to customize dishes for patrons

(

(b) Placing an order at a restaurant

(c) Making a complaint about late service
(

d) Ordering a special dish for himself
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Listen to a conversation between two college

teachers.

M Hey, the number of students in your class
has almost tripled this summer.

W Yes, more students than ever enrolled in
summer courses.

M How about teaching more classes?

W | can’t. I’'m already teaching six hours every
day.

M Then the college should hire more teachers.

W They’re trying to, but temporary teachers are
high in demand in summer.

Q What are the man and woman mainly
discussing?

(@) Why the college has let in more students
than usual

(b) Why it is hard to employ teachers on a part-
time basis

(c) Why summer courses are popular among
students

(d) Why the woman has to teach big classes this
summer
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Listen to two friends discuss the Governor’s

recent political move.

W The Governor now opposes the Labor Party’s
health care bill.

M Didn’t she introduce a similar bill when she
was in Congress?

W Yes. It’s one of those populist measures for
the next election.

M She shouldn’t change her political line just to
garner votes.

W Right. She should continue to serve as
guardian of liberal values.

M Tell me about it.

Q What are the man and woman mainly doing
in the conversation?

(@) Blaming the Governor for introducing a
health care bill

(b) Condemning the Labor Party for changing
their policy stance

(c) Voicing disapproval of the Governor’s
political maneuver

(d) Discussing the Governor’s chance of winning
the next election
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24 Listen to a conversation between a couple.

W Lyn had a baby last Thursday.

M Really? | had no idea she was expecting.

W Oh, | forgot to tell you. She actually told me
just last month.

M What’s the baby’s name?

W Arnold. It was Lyn’s great-grandfather’s
name.

Listen to two friends discuss their evening plans.

M Did you make a reservation for our dinner?

W Yes, last evening. I'll see you there at five
thirty.

M I'm terribly sorry but | have an urgent
teleconference until six thirty.

W Okay, then I'll call the restaurant to change it

to seven thirty. M | like it. Why don’t we call them now and

congratulate them?

¢ 1s9] 1enpy

M Great. Are you okay with eating late?

That’s what | normally do. Q Which is correct according to the
conversation?

(@) Lyn was delivered of a baby last month.

(b) The man was not informed of Lyn’s
pregnancy.

=

Q Which is correct according to the
conversation?
(@ The man is unsure of when he can meet the

woman.
(c) Lyn’s great-grandfather named the baby.

(d) The woman has told the man about the
pregnancy before.

(b) The woman has a habit of having supper
late.
(c) The woman initially made a seven thirty

reservation. s 742 Zto| stelLic,
(d) The man has a teleconference starting at five W 210] X[t 2L210f 002 =rRTH,
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0i3| have a baby 017|2 't be expecting 241 Listen to a conversation between a car
zolct be delivered of a baby op7|E =Tt mechanic and a customer.
be informed of ~of thsiA ECt  pregnancy Al W Hello, I'm calling from Glendale Body Shop
name ~0{7| 0= 20|t about your van.
e (b) M Hi, have you finished fixing the brakes? | was
told to pick up my van today.
W Sorry but we need two more days.
26 M Why? Is the damage that bad?
Listen to a conversation between two friends. W No, we just ran out of this particular part.
M You look sad. What happened? M Well, it’s okay. My insurance covers car rental.
W My grandmother passed away yesterday. Q Which is correct about the man according to
M Oh, I'm sorry. Was she ill? the conversation?
W Yes, she had been in the hospital for two (a) The garage will be done repairing his van
years. tomorrow.
M It must be really hard for you. (b) His insurance covers the cost of having his
W But | also have very pleasant memories of car fixed.
her. We always spent Christmas together. (c) Repairing his vehicle requires a specific

Q Which is correct about the woman according ELnlZEIs

e e TS (d) He was not notified of an estimated timeline

(@) She passed out yesterday in the hospital. i ilne EEE

(b) Her grandmother died of an accident. S RFEX} AH|Zat 24 7H| CHERILICE
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Listen to a conversation between two friends.
M Nora, you look great these days.

Yup, my chronic dermatitis is gone now.
Are you on medication or something?

= < =

Yes, I’'m taking a new medicine released just
two weeks ago.

<

Is it an over-the-counter drug?

=

Mine is not, but a lower dose version is.

29

Listen to a conversation between two friends.

w
M

<

Thank you for unclogging the drain.

No sweat. Home repair is a daunting task for
the inexperienced.

The list of things to fix never goes away.

A lot of work comes with owning a house.
It’s hard to adjust to not having a landlord to
call.

Q Which is correct about the woman according M- I understand.

to the conversation? Q What can be inferred about the woman from
(@) She used to suffer from an acute skin the conversation?
condition. (@) She is not interested in home improvement.
(b) She had to have her prescription filled to get (b) This is her first time to own a house.
her drug. (c) Her landlord refused to fix the drain.
(c) The drug she is taking has been around for (d) She wants to sell her house to the man.
quite a while.
(d) She is on a lower dose version of a new st Tt Zhe] thBtILE, E
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Listen to a conversation between a husband and

wife.

M | just saw an ad for free puppies.

W Shh, Frank should not know about this.

M Why not? He can learn responsibility by
caring for a pet.

W I’'m not so sure about that.

M Come on. It could be a good birthday
present for him.

W Why don’t we wait until he turns ten?

Q What can be inferred from the conversation?
(@) The man feels that their son is not mature

enough.

(b) The man is not sure whether their son likes a
dog.

(c) The woman doubts their son can look after a
dog.

(d) The woman thinks that raising a dog can
cost a lot.
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Good morning, I’m calling from Dr. Unger’s office
to remind you that you have an appointment
on the 19th of February at 4 p.m. This is the
second time calling, but we haven’t received
any confirmation call back from you, so we are
wondering if you are still coming on that day.
Please call us back at your earliest convenience.
Thank you and have a great day.

Q What is the speaker mainly doing?

(@) Rescheduling a doctor’s appointment
(b
(c
(

- <

Making an appointment for a second visit

-

Confirming a doctor’s appointment
d

=

Giving a follow up call after the visit
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All forms of cancer are serious and difficult
to treat. But one of the deadliest cancers is
pancreatic cancer. The pancreas is an organ
located slightly below the stomach, and it is
responsible for the production of hormones,
including insulin. Pancreatic cancer has a very
low prognosis because it is extremely difficult
to diagnose it until it is in its advanced stages.
People usually do not suspect any problems as
symptoms are not apparent.

Q What is the main topic of the talk?

(@) The distinct function of pancreas

(b) How pancreatic cancer can be treated

(c) Efforts to treat deadly cancers

(d) The difficulty of detecting pancreatic cancer
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More and more people are looking for alternative
animals for pets. And one of the most popular
animals is the fox. They are small, cute and easy
to take care of. Raising a desert fox is similar to
raising a cat. You can even feed them cat food
sold in any nearby supermarket or a pet shop.
Also, you don’t have to wash them every day,
because foxes tend to keep themselves clean
like cats.

Q Which is correct about owning a fox
according to the talk?

(@) It is easy to confuse them for a cat.

(b) It is only slightly larger than a cat.

(c) It doesn’t require daily cleaning.

(d) It can eat any kind of pet food.
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Some people think that the Internet offers
access to information that can help children
develop and grow. There are some that think
otherwise. Detractors of using the Internet as
an educational tool for children are arguing that
it gives children access to information that may
have the potential to harm them, especially
when children are in their developing stages.
They argue that parents need to keep a close
eye on what their children are accessing on the
Internet.

Q Which is correct about the Internet according
to the talk?

(@) Its benefits for children are controversial.

(b) Itis a bad influence on developing children.

(¢) Its information is difficult for children to
access.

(d) It helps parents know more about their
children.
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An independent watchdog agency issued a
statement last Monday indicating that the
North and the South Poles are releasing a
tremendous amount of greenhouse gases into
the atmosphere. Traditionally, these poles were
absorbers of greenhouse gases, but as the ice
melts, the trapped carbon dioxide and methane
are released. According to some scientists, the
amount of greenhouse gases trapped inside
the ice is capable of increasing the Earth’s
temperature by several degrees.

Q Which is correct according to the news
report?

(@) The North and South Poles are the leading
cause of global warming.

(b) The melting of polar ice will increase the
pace of global warming.

(c) More greenhouse gases are trapped in the
North Pole.

(d) Human health is sensitive to the amount of
polar ice.
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Robert Frost is known for his modern poems,
including The Road Not Taken. In his short poem,
he deals with our perception of life through the
choices we make. The character in the poem
comes across a fork in the road, where he must
decide between a mysterious new road and a
well-traveled old road. The new road represents
uncertainty in life, and Frost’s character chooses
this road, which conveys the meaning that life is
full of mysteries, opportunities, and adventures.

Q What can be inferred from the lecture?

(@) Robert Frost knows much about human
nature.

(b) Robert Frost thinks people should avoid
clear roads.

(c) Robert Frost thinks that unclear future is a
part of life.

(d) The Road Not Taken is the shortest poem by
Robert Frost.
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37~38

It is with mixed feelings that | announce that
Mike Oliver, Director of Mobile Communication
will be leaving the company at the end of
November to pursue a new opportunity.
Mike has made great contributions to our
business. He led the development of mid-
range smartphones to expand our exports to
emerging markets. His team also developed
tablet PCs that can replace laptops. Mike also
helped optimize our high-end smartphones by
enhancing partnerships with software firms.
Please join me in wishing him all the best in his
new endeavors. His position will be taken over
by Wendy Kim. As Director of Innovation, Wendy
drove the launch of the world’s first virtual reality
game console, attracting huge media attention.
Her team also developed small but profitable
peripherals like wireless earphones and foldable
keyboards. Her recent project successfully
optimized the software for our artificial
intelligence speaker. In her new role, Wendy is
expected to bring her innovative touch to our
main business of mobile communication.

Q37 Which is one of Mike Oliver’s achievements?
(a) Development of affordable phones

(b) Optimization of high-end software

(c) Attracting wide press coverage

(d) Increasing export of peripherals

Q38 What kind of business area will Wendy Kim
take charge of?

a

(
(b
(
(

=

Small but lucrative equipment
Portable communication devices
Tablet PCs for emerging markets
Next generation laptop computers
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39~40

We often use the term ‘the Chinese stock
market’ but mainland China actually has two
different stock markets. The oldest one is the
Shanghai Stock Exchange or SSE. The SSE
consists mainly of big corporations, many of
which are owned by the Chinese government.
Infrastructure, real estate, and financial services
are the main industries of the Shanghai market.
The SSE is the world’s fifth largest and Asia’s
second largest stock market. The other
stock market of China is the Shenzhen Stock
Exchange, or SZSE. Many of the companies
listed on the SZSE are small and medium-sized
enterprises in the industries such as information
technology, healthcare, and media. The SZSE is
the eighth largest stock exchange in the world,
and the fourth largest in Asia. As the Shenzhen
market lists more technology-oriented firms, it
is often compared with the NASDAQ, which is
America’s second biggest stock market.

Q39 Which is likely to be listed on the Shenzhen
Stock Exchange?

a) A large state-owned company

b) A pharmaceutical company

c) A property development company

d) An American technology company

Q40 What can be inferred from the talk?

(@) The NASDAQ is the world’s second biggest
stock market.

(b) Technology companies are free from the
government control.

(c) The Shanghai market is bigger than the
Shenzhen market.

(d) The Shenzhen market lists more tech firms
than the NASDAQ.
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W Have you seen Peter’s new tie?
M

a) He is tied to the house.
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o OoOL— = oT LT
I HRIZE TIZ40F TER| D (MRS EAAO] AREI c) Do you really buy that?
d) It matches his suit well.
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M You sure know how to play tennis.
W

a) Thanks but that’s way out of my league.

b) We’re not a match made in heaven.

c) You can tell me a thing or two about tennis.
d) I've played competitively since high school.

(
(
(
(

d) T AIERE Aol LIUHER.

siie OfRte| EllL|A 21=oi| Chet EAte| FEtofl 1w AHRE
Chaloll X6l HIUAS X RiThs 2i0|9| (d)7F =&s
C

Ct, =Xt 2F You sure know ~7} ZIFH tE= ZHEH)

HAYS Lot =0t

o{3] way 4= Z2| out of one’s league ~2| 5

g2l a match made in heaven 4%E  tell ~
a thing or two ~0il| & 22 =t competitively

Zymoz

HE (d)

M | appreciate your advice on my upcoming job

interview.
w

(@) I'just hope the interview went well.
(b) It is my pleasure to help you.

(c) I have butterflies in my stomach.
(d) It is not just that applicant.

A M 2 US HE| CHa ZH5H AN ZABHS.
w
(a) BiTI0] 25 HIE golo2.

(b) =22 =2 = J0IA 7.
(c) U= Hae.
(d) 2 XI&XHEZH0] OF|Z.
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H XL HES AFT 4 Qs ok

stomach i 7IEstcH applicant XXt
He (b)
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W Has Clare finished her assignment?
M

a) As far as | know, she isn’t.

b) That’s where she’s assigned.
c) No, not that | know of.

d) She’s never been there before.
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M I’'m fed up with you making excuses all the
time.
w

(@ I’'m not going to warn you again.
(b) But | was late for a good reason today.
(c) Sorry, | promise I'll feed you well.
(d) That’s no excuse for not doing my part.

7
sorryZt 11 #E2| ()8 12X E== Folsirt,

o{2| be fed up with ~0il Z2|ct make an excuse
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for ~of chall HEHS KX |7t gl

= (o)



6

W Maybe we should go to the movies with
mom sometime.
M

(@) Yes, she did already.

(b) No one has told me yet.

(c) | can’t agree with you more.
(d) It is being filmed now.

iAW I Hotet Fet 23 JjofF & 7o,
M

a) S, td= B K|,

F= OFF= LIof|7A| 047 | 2F 3HOA.
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ofz] film st

HE (c)

M The weatherman just said there will be a
thunderstorm next Friday.
W

a) And | forgot to wear a raincoat today.
b) Perfect. We’ll see mostly sunny skies.
c) Well, there goes our camping trip.

(
(
(
(d) Okay, let me put it another way.

s M 7| ofltoiN CHS F 3R =97t US TR,
w
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L2 there goes (7|2 50|) Al2tX[Ct

B (o)

W s it possible to renew library books online?
M

(@) You can do that on the homepage.

(b) A novel like this is long overdue.

(c) Sure. You can return them to the library.
(d) It is closed on public holidays.
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B (a)

W | can drop you off at school tomorrow
morning.

€151 1eny

a) Thanks, but | don’t want to bother you.

(

(b) I'm not going to drop out of school.

(c) But you can still take the subway.

(d) Let’s cross the bridge when we come to it.
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W How is the online advertising plan going?
M

a) It is unlikely to get off the ground.
b) | get along well with the manager.
c) Itis clearly visible from the office.

(
(
(
(d) I already looked them up online.

siA W 2at0l 3m AZIS ofEH =of 7t 0ie?
M
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off the ground‘— ‘X EA ARSICEER= 2ojo|ct,
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Part Il
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W Hi. Did you make a reservation?

M No, but do you have any tables available?

W We only have one table right by the entrance.
M

a) That is under my name.
b) It’s hard to enter anyway.
c) Sorry, this is reserved.

d) Well, anything will do.

SHSIMIR. oflefsHilLtR?
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(d)

Are you available for a cup of coffee
tomorrow?

Yes, I’m not busy these days.

How about four o’clock?

a) That’ll work perfectly for me.
b) | hardly drink coffee.

c) It would be better at four.

d) Green tea sounds better.
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W What are you going to do tomorrow?

M I’m going to study for the midterm.

W Hey, it’s the weekend. Let’s have some fun.
M

(a
(b
(c
d

R=

Oh, come on! Get a life!

=

| don’t have a midterm plan.
| want to ace all the exams.

=

All work and no play.

W OF, 20|} & =At,

M

(a) OH Q1= & EH

(b) = ol.

sia Rt = = c)
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= midterm?| CI= 52 0|EEt & , (d )E Uat
Sl SX| o™ LESH ARRO0] EFE 29| All work
and no play makes Jack a dull boyOllAf SIEE0|

Mabel mHo(c

02l midterm £7tTAt ace ~0llM AZ it

EFE (o)

Are you still looking for the medical journal?

M
W Actually, I've found it in the reference section.
M Where do you want to read it?

W

(@) | think this article is a real page turner.
(b) Here. Reference books cannot be checked
out.

(c) Perhaps | should read it some other time.
(d) Yes, but it’s not allowed out of the library.

W
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B (b)

M Is the new sales guy doing well?

W You mean Jeremy? He was awarded the Best
Sales Rep of the Quarter!

M Wow, you sure have an eye for talent.

(@) Right, you’re the one who insisted on hiring
him.

(b) Yep, | saw his potential during the job
interview.

(c) You know what they say—an eye for an eye.

(d) Thank you. | appreciate your effort.
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W P’ll probably flunk this test.

M

No way! | know you’re very smart.

W Seriously, college math is twice as hard as

M
(
(
(
(

L

high school math.

a) Right, it’s not going to leak.
b) Hey, that’s an exaggeration.
c) You can enter a tournament then.
d) No, it’s just over your head.

W Lt O] AlollA &gt R 2ot
M Anj G SO}

W 742 OF 5tT1 Cist 452 MSstm 48tECt 5 b

M

a) ot 20| MX| 4= 7{ok

c) 1 EH2|01| '-P* = 04,
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W | won a scholarship to Yale University!

w

M

Congratulations! I’'m so proud of you.
Thank you. I’'ve studied really hard for the
last three years.

a) You’re right. No one saw it coming.

c) You can redo the test if you want to.

(
(b) See? Hard work always pays off.
(
(

d) | wish your teacher agreed on that.
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| read your column in this week’s magazine.
Thank you. Actually, it took me forever to
write it.

Hmm. So are you going to do it again?

a) You can take either one.

b) Yes, but only in this week’s issue.

(
(
() No, it’s just too time-consuming.
(d) Yes, it’s not worth the effort.
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W Hi, I'd like to check in. My name is Mary
Farlow.

M Good afternoon, Ms. Farlow. You reserved a
twin room for five nights, right?

W Um, right but can | have a double room
instead?

M

a) OK, your room number, please?

(

(b) You can do that when you check out.

(c) No problem. We are not fully booked now.
(

d) Don’t worry. | already took care of it.
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Could you proofread my rough draft, please?
No problem. Let me get my red pen.
Don’t you find it easier to edit soft copy?

2= == =

(@) No, a digital version is more convenient.
(b) Yes, but I'm very tech-savvy.

(c) Hard copy is easier on the eyes.

(d) You can do it on paper if you want to.
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Listen to a conversation between two friends.

M Giloria, | didn’t know you’re a fan of rock
music.

W | am. | always listen to it. | even play the
guitar.

M Really? Who is your favorite band?

W Coldplay. | like modern rock.

M | prefer old rock music from the eighties and
nineties.

W | also listen to old school rock songs
sometimes.

Q What are the man and the woman mainly
doing in the conversation?

(@) Learning how to play the guitar

(b) Talking about their common tastes in music

(c) Selecting a rock album for their collection

(d) Remembering their good old days
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Listen to a conversation between two

classmates.

W Do you think the grading system of this
course is fair?

M Yeah, | guess so. Why?

W | think the professor is placing too much
importance on group presentation
assignments.

M But it’s the same for other business courses.

W It’s not fair because there are too many free
riders.

M Well, it’s what happens in the real business
world, too.

Q What are the man and the woman mainly
discussing?
a) Importance of real business experience

(
(b) How students are graded in class
(c) Difficulty in getting good grades

(

)
d) How to encourage teamwork in class
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Listen to a conversation between two

coworkers.

M Do you know Rick had his hair dyed red?

W Yes, he sent his new photo to my cell phone.
It’s hilarious!

M | think he’s gone too far. He is a sales
representative.

W Oh, well. | thought it’s kind of cool.

M Cool? No. He meets our customers every day.

W We also have a lot of young customers. They
will like his new hairstyle.

Q What are the man and woman mainly
discussing?

a) The company’s dress code for salesmen

b) Why salesmen should look conservative

c) Their perspective on Rick’s new hairdo

d) How Rick has attracted younger clients
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Listen to a conversation between a waitress and
a customer.

W Would you like to sample our new frozen
yogurt with fruit flavor?

What kind of fruits does it contain?
Blueberry, kiwi, and orange.

I’'m allergic to kiwi. No thanks.

Why don’t you try other flavors then?

If you insist, Id like to taste chocolate yogurt.

O 2 s 2= =2

Which is correct according to the
conversation?
(@ The man is allergic to yogurt.
(b) The new flavor contains chocolate.
(c) The samples are on sale today.
(d) The man cannot eat a particular fruit.
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Listen to a conversation between two friends.

W What are you going to do after graduation?

M I’m going to spend some time with my
parents back in my hometown.

=

And you will do a master’s degree after
coming back?

Yes. But I'll take six months off first.

What are your plans for the six month break?
Tutoring high schoolers in math.

O 2= =Z

Which is correct about the man according to
the conversation?

(@) He is majoring in mathematics.

(b) He has graduated from college.

(c) He plans to make a trip after graduation.
(d) He will pursue a career in teaching.
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Listen to a conversation between two students.

M Hey, you have bags under your eyes. What’s
up?

W | burned the midnight oil writing a linguistics

report.

What? The deadline was delayed to next week.

No way! | didn’t know that.

The professor told us in class last Wednesday.

Oh, gosh. | was absent that day because

| had a stomachache.

s 2= =
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Which is correct about the woman according

to the conversation?

(@ The man forgot to tell her about the changed
deadline.

(b) She wrote a report last night which is due
next week.

(c) Her professor allowed her to submit her
report late.

(d) She was absent from her linguistics class for

two weeks.
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Listen to a conversation at an office.
W Hey, do you happen to know Terry, the
temporary translator?
M Yeah, he’s the one who translated my
financial report.
W Really? Is he good? Do you think he
deserves a full-time position?
M Definitely. Terry is one of the best I've ever
worked with.
W Great. | was planning on hiring him as a
permanent employee.
M Sounds good. I’'m sure you will not regret
your decision.
Q Which is correct about Terry according to the
conversation?
(@) The woman would like to lay him off soon.
(b) The man thinks highly of his performance.
(c) He’s been working on a permanent basis.
(d) The man has not assessed his work yet.
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Listen to a conversation between two friends.

M Yes, | won again!

W Oh, no. You’re a chess genius.

M Well, | first learned chess when | was eight,
and I've played competitively for twelve
years.

W | know. But I’'ve also been playing chess for
five years.

M Your skills have gotten a lot better than five
years ago.

W Thanks. But maybe | should give up on
entering the tournament.

M Hey, cheer up. You’ll be way better than most
participants.

Q Which is correct according to the
conversation?

Listen to two friends talk about their mutual
friend.
M | wonder what Jordan is up to lately. | haven’t
seen him for quite a while.
| have. He’s searching for a job.
So he’s already graduated from law school.

| hope he'll find a job before summer.
He said it’s unlikely but he hopes to join a
law firm within this year.

w
M
W Yes, but law firms aren’t hiring.
M
W

Q What can be inferred from the conversation?

(@) The man is now working for a law firm.

(b) The woman sees Jordan more often than the
man does.

(c) Jordan will get a job by the end of this year.

(d) The woman is helping Jordan find

(@ The woman is happy about her chess skills. employment.
(b) The woman has never won at chess for five
years. 1A MZ OF= FIF20f| CHEH &= &I 70| ChsilLct,

(c) The man first learned how to play chess at
the age of twelve.
(d) The man compliments the woman on her

improvement.
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Listen to a conversation between two old

classmates.

W Danny? Hey, do you remember me? I’'m
Jessica.

M Oh, Jessica! We took an advanced science
class in Tenafly High School.

W Right. It was already ten years ago.

M Time flies. By the way, are you wearing
contacts now?

W No. | had surgery to correct my vision.

<

Really? I’'m also thinking about having Lasik
surgery, actually.

Q What can be inferred from the conversation?

(@ The man wants to become an eye doctor.

(b) The man and the woman majored in science.

(c) The woman used to wear glasses in high
school.

(d) The man’s eyesight has improved a lot.
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Today’s keynote speaker is Dr. John Medina. He
is the author of numerous internationally best-
selling books about brains. Just like everyone
here, Dr. Medina began as a young student who
was fascinated by the working of the brain. But
now, his enthusiasm has led him to dig deeper
and consolidate different fields of brain science
and publish a very powerful book, Brain Rules.
As a professor and a writer, he will give you a
comprehensive overview of the brain. Please
welcome Dr. John Medina.

Q What is the main purpose of the
announcement?

(@) To inform the audience of how a human brain
works

(b) To give background information about the
guest lecturer

(c) To encourage the audience to purchase the
speaker’s book

(d) To explain how difficult it was to have him
speak for the event
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Every day people die of malnutrition and
starvation in third-world countries. What’s more
shocking is that most of these deaths are of
children under the age of two. And it is possible
to prevent these deaths by simply providing
more food for them. | am sure that if the
government deals with the problem head on and
allocate the necessary funds for children, the
problem will be solved.

Q What is the main topic of the talk?

(@) The possibility of eliminating famine in poor
countries

(b) The corruption of governments in third-world
countries

(c) The death of people by famine and hereditary
diseases

(d) The inadequate medical funds for people in
need
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| am greatly honored to stand in front of you
today to introduce the employee of the year.
John Gomez has been with us since 1998,
and since then he has been a great addition to
our company. He is particularly notable for his
exceptional drive for excellence in whatever he
does. Last year, he has led his team to develop
our best-selling G4 computer. Please welcome
John Gomez.

Q Which is correct about John Gomez
according to the talk?

(@) He is introducing an employee.

(b) He is giving an award.

(c) He is the best worker this year.

(d) He is the founder of the company.
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Hello. You have reached the Solomon Hospital.
Please choose from the following options. If
this is a medical emergency, please press 1. If
you wish to make an appointment or change or
confirm an appointment, please press 2. If this is
about prescriptions, please press 3. If you want
to talk to an assistant, please press 0 or stay on
the line.

Q Which is correct according to the recording?

(@) People can talk to the doctors by pressing 0.

(b) People with emergencies need to hang up
and dial again.

(c) People who want to check their
appointments should press 2.

(d) People can make appointments by speaking
to a representative.
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Aphra Behn is the first professional female writer.
Some of her famous books include Oroonoko,
The Rover, and The Lucky Chance. Now, what’s
interesting about her writing is that she has
strong female characters in her stories. These
characters were not only clever and determined
but also rebellious, standing up to men who
disregarded women. This is similar to what she
was trying to do in real life. She struggled to
make herself known in a male-centric society.

Q Which is correct about Aphra Behn according
to the talk?

(@) She is known for her unique way of
describing her characters.

(b) Her most famous book is The Lucky Chance.

(c) Most of her books were bought by women
similar to her.

(d) She resembles most of her characters in her
novels.
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When a disease passes from animals to humans,
it is called zoonosis. For most diseases,
especially viruses, it is uncommon to move
from their host animals, which aren’t affected
by the diseases, to humans. However, in some
instances, when humans come into contact with
the infected animals, they make the jump and
infect humans. In 1994, in Australia, a type of
virus from bats started to infect horses and then
humans. It was later given the name Hendra

virus, and it is a rare case of zoonosis.

Q What can be inferred about the Hendra
virus?

a) It sickened more horses than humans.

(
(b
(
(

= =

It mutated when making a leap to humans.
c) It does not make the bats sick.

d

=

It rarely moves to other animals.
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You may assume multinational companies
always have an edge over local companies, but
it’'s not entirely true. Big global companies also
have their own weaknesses. One example is
their tendency to deploy a uniform marketing
strategy without understanding different
markets. Do you remember the failure of
Nougatia in Asia? For those who don’t know,
Nougatia is a premium candy bar that contains
dark chocolate and organically grown nuts. After
its huge success in the U.S., the headquarters
in New York told branch offices in Asia to
prepare a massive launch of the product with
advertising focused on the health benefits of
dark chocolate and organic nuts. Many of the
branch offices strongly opposed the plan but
were forced to launch the product anyway. And
it failed big time. It actually failed for different
reasons in different markets. In China, its price
was prohibitive. Meanwhile, in Korea, health-
conscious consumers simply don’t eat any
candy bar whatsoever. And Japanese people
prefer candy bars covered with milky and
creamy chocolate.

Q37 What is the talk mainly about?

(@) Some of the drawbacks of global and local
companies

(b) Different consumer needs in different markets

(c) One of the shortcomings of international
corporations

(d) Failure of American companies in the Asian
market

Q38 Why did Nougatia fail in the Chinese market?
(a) Its consumption was prohibited in China.

(b) It was unaffordable for most consumers.

(c) Its health benefits were irrelevant to people.
(d) The branch office opposed the pricing policy.
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Most parents dress their boys in blue and
get them toys like robots and building blocks
whereas girls are dressed in pink and get dolls,
stuffed animals, and kitchen toys. At school,
teachers expect male students to be good
at math and science, and females to excel at
languages. Many activists have long claimed
that, if male and female children were raised in
the exactly same way, we would have a sexually
neutral society where men and women share
more commonalities than differences. A kibbutz,
a collective community in Israel, provides
an interesting perspective in this regard. In
kibbutzim, all the children wore gender-neutral
colors. Boys were motivated to play house, and
girls were encouraged to play ball sports. All the
students were allowed to select their preferred
school subjects. The result? Boys still fought
with each other, formed hierarchies, and opted
for physics and sports. Girls shared feelings with
each other, avoided conflicts, and later pursued
careers in teaching and counseling.

Q39 Which is correct about collective

communities called kibbutzim according to
the talk?

(@) They were established in Israel for gender
studies.

(b) Boys there were banned from forming
hierarchies.

(c) They tried to provide a gender-neutral
environment.

(d) Children there chose clothes in their preferred
color.

Q40 What can be inferred from the talk?

(a) Women may be naturally more empathetic
than men are.

(b) Science proved men and women are
fundamentally different.

(c) Gender stereotyping is the main cause of
gender differences.

(d) Teachers influence gender roles more than
parents do.
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1

M Which one do you prefer, the blue or the red
one?
w

(@) Either will be fine.
(b
(c
d

=

The colors are flying.

-

Il pay by credit card.
Neither. | like the red one.
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FE (a)

When did you water the flowers last time?

a) | planted the flowers in March.

c) Sorry, | just forgot about that.

(
(b) That’s why | hired a gardener.
(
(d) That was the last time | did it.
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W Do you mind if | ask you a personal
question?
M

(@) Actually, | may be.

(b) No, fire away.

(c) Yes, thanks for answering.
(d) No, never mind.
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B (b)

M Are you too tired to give me a ride?
W

(@) No, | can just take a bus instead.
(b) Don’t stop even if you are tired.

(¢) Um, why don’t | grab a taxi for you?
(d) You can always take a nap.
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W Don'’t forget to put on protective clothing
before mowing the lawn.
M

a) I’'m saying this for your safety.

c) Yeah, I'll put it on after | finish gardening.

(

(b) You're right. I'll take it off now.

(

(d) It’s OK. I'll take care so | don’t get hurt.
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take off &ict put on ~2 2ct take care

M Have you had your hair permed?
w

a) | don’t like men with long hair.
b) I just put on some wax.
c) My hairdresser said otherwise.

(
(
(
(d) | come straight home after work.
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W | always have motion sickness on the boat.
M

(@) That disease spreads easily.
(b) Overeating is a bad habit.

(c) | often get seasick, too.

(d) We will stop over in Singapore.

Ly
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M Why don’t you join the company tennis team?
w

a
b
€
d

=

The game was exciting indeed.
| didn’t realize you had company.

- =

| will invite my coworkers.

(
(
(
(d) I think I’'m too old for that.

=
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e (d)

W | don’t think he is an ideal candidate for this
position.
M

a) | agree. He’s very qualified for the job.

c) What makes you say so?

(

(b) You should ask for a raise then.

(

(d) He’ll announce his candidacy for President.
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= Bithel ozig sh= A 2ol 22| A2tstA| = ol W BHFH R,
RE 2= Uk 7ksoltt (@) YEFE A1 Hest A M TI320iA CH2 HIEH7 |2 SRASIAILLR?
o2t ooz LIZS| YR SEX| 4T w
0i#| candidate ==Xt position =2 qualified for (@) E2 % zMo= TN
~0]| &elo| i O|AF i = _
ol &elel raise 214 candidacy 2= (b) 4], ZistRILICH
2 (0 (c) YE2Iop Hl £5 SRXILICE
(d) 3= 3= o2
10 sHa HHFHE ZHh= ofKte| 2ol JXi7t IR0l B&sh=
X 21 U8 2 Xo| 2F SHXIZ #5l= ()7t 7t
M Still trying to use up leftover holiday cookies? A MBI, (b)= XISHBHHE HE0|22 yesahn shs
w A2 B UFTE SR LTk
(@) I'think my kids just finished them up. 0i3| transfer &kssict flight Hig(7]) aisle E2
(b) Yes, take a left turn at the intersection. nonstop flight /&% destination SXx|
(c) I’'m tired of cookie-cutter products. baggage claim #3l= &= 2
(

d) | have a few extra kilos to lose.

0x
i

©

siiA M OREI= FE0| 52 F715 CF WA S0 SIAILIR?

w 12
o = tCl ™ | ZH . . . .
(a) 21 OIOISOI = EF = _OMEI A=, M The TV in the meeting room is not turning on.
(b) Ul, :RL20fAT 22 |x,_1°w|g W Did you press the power button on the TV?
s to =5t =iy
(c) Hoil 2j= =2t MES0ll ZR0i2, M Yes, but it’s not working.
d 2z o HHHOF SHe. W
5 IO SAIS [} #ES SHLE= =20 of O HO &
siE =2 SAMS T MEsteal sik= 2501 9 T =01 2| (a) But it works well for older people.
o= FRfoHAR b)= 2 0|26t
- h__ (@)t 7K AALEEL (D) leftoverS OIS (b) Why don’t you turn it on first?
QE 5FH0|0, (c) 8t cookieE EH=sh &0 X2 M .
5 Cl2 B2 ofo[Ct (c) Have you tried the remote control?
O —
(d) You can turn it off by unplugging it.
01%] use up Ct MH2ICH leftover LiHX|C|
intersection wxt=2 cookie-cutter MZIAH7} IG5t s M Z[elMof| = TVZH AXIX| edulL.
e (a) W TVe| ME HES F24LIR?
M 4|, 3| oF L.
w
Part Il ~
a) I3 LIo| EAI 250l =27t UE E8.
11 M A= A HIR?

2|mHoR & BALIQ?

(¢)
-

M Good afternoon. Where are you flying to,

—_— =~ =
O
-

ma’am? d) E211E il Z 4= A0,
W To Vancouver. sHA 3|olaof U= TV7H T HES s2ix HXIX| LUTt
M Are you transferring to another flight there? = 2Xe] Lol CHE ES XRtek= (c)7F RIAARCE
w (a)= workE &Ee=z 0|88 2EO0|, (b)2t (d)= 2+
Ztturn it on, turn it off& 018t 2-oICk

a) An aisle seat, please.

b) Yes, it’s a nonstop flight. 012 power Z¥ work %=0| =t remote control

(

( =4 = HH|
(c) Victoria is my final destination. 227 unplug 0SS0t
(

d) To the baggage claim area. e (o)

82
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W Peter, can | park here?
M Sorry, that’s for executives only.
W But | just need ten minutes to unload my van.

a) Rules are rules.

b) | promise I’ll be quick.

c) The business is rather slow.
d) Let’s park that issue for now.

siiA W mIE], o470l FRISHE EILR7?
M ZIESHR|RE 771 A4E TEolol.

O
W SHXIZH Eddof| Q= EE U2l= ol = 10208 ==

pile)
=1,

s lelis FRHE 4 gl T0IXR US Ha| BY 4 U
OL| FAHE ELH= OfRtel ol TFEI2 XI740F i
ZRfE 4 BTt 2A0le] (a)7} 7K RIHARIL, ()=
OXI7H EfXIOIA| B 4 QU= Toln, (d)= BRIkt
olnl2 491 parkE 0I5t B[k

G b

013 executive 2/® unload =2 LH2|ct issue 27,
28 for now M, 2tk park (914 52) 2F517 (2
Sict

HE (a)

<

Excuse me. Which train should | take to go
downtown?

Oh, Henry! What a coincidence!

I’'m sorry. Do | know you?

£ < =

a) Of course, you do, but | don’t.

¢) Yes, you should take the yellow train.

(

(b) We went to high school together.

(

(d) Your schedule doesn’t coincide with mine.

siA M AELICE ALHZ LEZI2{H O 7[XHS Etof sHtR?
W 0101'4 izl o 20| o AN
ZISELCE 2 O LER?

c) Ul, =2t 7IXIE Efof sl

d) g4 Y2 A Lt LRISHK] LU

Ofxte| Bt30f Do | know you?2tl Ysk= ZHe2 &
O HXk= OIX[7h =71RUK| 227 Q[rt. A O] &

OiXte| &2 73 MAeh MElX|= & ARzl QIio]| Ch
afl 0l0F7 k= (b)OICL. (c)= EXtel & i Zof| 0|
= Q= CHEo|Ck

answer Tst 2t} coincidence 291 coincide
with ~2} 2x[5ICf

(b)

M | landed a job as an English teacher.

M

w

Didn’t you always say you wanted to be a
journalist?

| know, but the job market is really tight these
days.

a) I'll continue the job search while working.

c) Yeah, we're working on a tight schedule.

(
(b) Finally, your dreams have come true.
(
(

d) How about trying an employment agency?

5H4d

M | IAF UKfEIE THOL

W B 7R} T ACkD BHR] 2420012

M 127, IRIE| 3 AIO| 2F M2t sistit,
w

(a) USIBIME 75| BES 74 3 AZI0[OF

(b) ZH= U E0| AlSigiTLL

(€) S, Dol WSt UHS Astskn o]

(d) ZIHAINAZ 7} 2= A ofuf? E
LA URIZIE 57l HXIBH Rlof BRE 2 of 5
QIODZ (b= XHSHK| 94T, (a)= CIXITH L1 |0l g
OYMBICE, FI2A0| 01242 ABIOIA OIXET} ERIOI| B2 N

4 QM= 2R Jha RS MEXI= (d)olct,

land a job YXI2|E Faich  tight =5 Q4G
job search 7= &= employment agency
EIHATHA

(d)

0
m
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M Thank God, it’s winter vacation!

W Do you have any plans?

M I’m going to work at a winter camp. How

about you?

w

(
(
(
(

a) | hope your winter camp went well.
b) | worked as a ski instructor.

c) | may take off the spring semester.
d) I’'m doing an internship overseas.

siA M of, 7iZ stolcH

2 7z Yels 2ol M2 =

W 7AEl Q017
M 742 ZmOIA Y 7ok 17
w

(a) 742 It TR viRich
(b) 271 ZA= U3of

() & iz Foteis St
(d) sHeloll PIEio= gt o}

5t
=
2tA OJ01E OfRI2| H= 7HE XfAA2 A
o
S

0{3| instructor ZAt take off #4Ict  do an internship
ClHo= 225t overseas sH2/0lAf
Jéir:r (d)

When will our taxi get here?

We may have to go home earlier.

M
W It’s supposed to come at three. Why?
M
W

a) I'll see what | can do.

c) But then we will be late.

(
(b) That’s why we should go home.
(
(

d) OK. I'll have it arrive by three.

siiA M QIK| EHAIZE 047 27717
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EIAZE @712 St AlZEECH O & 710F 5F7 | LH20| (d)
= YK Lk

be supposed to ~5t7|Z =l0] /UCt by (£0{%)

~Boll=

@

They’re holding a classical concert this
Saturday.

Yes, I'm going there.

Oh, really? My friend just gave me a ticket.

a) | should’ve bought a ticket, too.
b) I really thank him for my ticket.
c) They may sell tickets on-site.

d) | may bump into you there, then.

W O F E Qo] SehA! HFE7t ST,
M 4|, M= 7HHER.
W ZER? FIF MEtE 25 TR,
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ol
=

W Have you received all the parcels dispatched
to your home?

M No, there was a problem, actually.

W Are you serious? What happened?

M

a) I’m still looking forward to it.

c) Fragile items should be protected.

(

(b) Two packages went astray.

(

(d) I prefer to have them dispatched.

M W EIoR Huf AT O} oM |97
O, AH! 277} AUA0HL.

A
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i3] parcel A= dispatch Zict look forward to

~2 7|ti5ict package Ax  fragile £MX[7| 412
protect E55iCt

e (b)

sl

W Were you born and raised in the US?

=<

My family immigrated from Mexico when
| was five.

W Really? Then do you speak Spanish?
M

(@) Yes, but it was inaudible.

(b) I’'m always soft-spoken.

(c) I only have a smattering of it.
(d) Spanish is a lingua franca.

A
i

O[=0ilAf EHOILED XERALERT?

FUR? O AHRI0T StMIR?

=T = = =

(a) Ul, 120| S2IXl= UL,
=

b) ¥ = SEEA Ll

—
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02| raise 7[2LCt 7IRCH immigrate 0|55 2Ct
inaudible Sz|X| 2= soft-spoken S42|7t
222 lingua franca S50, S0
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Listen to a conversation between a husband and
wife.

W The news said there will be a lot of snow
tomorrow.

Good. Now it feels more like Christmas Eve.

| mean it’s going to be a snowstorm!

It's okay. I'll stay home tomorrow.

But we might get icy roads.

Well, | always take the subway to work.

O 2 ss=2=s =

What is the main topic of the conversation?
(@) The damage brought by a snowstorm

(b) Snow forecasted for tomorrow

(c) The man’s worrying about the weather

(d) Getting ready for a heavy snow
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Listen to two friends discuss their investment.

W
M
W

=

M

Q

| heard some news about our mutual fund.
Has its value gone up?

Actually, no. But things will be different next
year.

But what about right now? Has it decreased?
Just a little. But we should be more patient.
Well, you’re an expert, so | trust what you
say.

What is the main topic of the conversation?

a) The best investment tool for them

iy

2
o

e

86

c) How their investments are doing

(

(b) How much profit they will enjoy
(©

(d)

Their long-term mutual relationship
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Listen to a conversation between a husband and

wife.
M Which hotel should we choose? The Douglas
Hotel has better facilities.
W But it’s more expensive. We should stay at
the Panda Hotel instead.
M The Douglas Hotel has a night club and a
spa.
W We'll spend most of our time outdoors.
M Well, the Douglas is just fifteen dollars more
expensive per night.
W A penny saved is a penny earned.
Q What is the woman mainly doing in the
conversation?
(@) Arguing against doing outdoor activities
(b) Explaining how much they can save
(c) Trying to economize on accommodation
(d) Canceling a hotel reservation
sHA1 'EHnt Ot ZHof CHEFLICE
M O SHIZ MElsHOF E77l? HE2A SHI0| AlE2
O Z0}.
W SEX[2F I HIAMEZO, CHA T S0 =510k ofl.
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Q CHSIOIM IR 2 5t Qs W27
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Listen to a conversation at a post office.

M Do you want to send this item by express
mail or registered mail?

W How much are they?

<

Express is ten dollars and seventy-five cents,
and registered is six-fifty.

It’s kind of urgent, so | want express.

It’ll take one or two working days.

That’s great. Thank you very much.

O = =2 =

Which is correct about the mail service

according to the conversation?

(@) Registered mail could sometimes be delayed.

(b) Express mail takes less than three business
days.

(c) Discount rates apply to registered mail.

(d) Express mail costs six dollars and fifty cents.
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Listen to a conversation between two friends.

W Hey, why the long face?

M My manager didn’t like my proposal for the
new project.

W Oh, | remember you said he’s really demanding.

M Right, but | put a lot of effort into this project.
| was so confident.

W Maybe the problem is not the content but the
presentation.

M You may have a point there! I'll present it
differently tomorrow.

Q Which is correct about the man according to
the conversation?

(@) He regrets not having made enough efforts.

(b) He plans to present a new idea tomorrow.

(c) His manager was confident about his
proposal.

(d) He told the woman his manager is hard to
satisfy.
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Listen to a conversation between two

coworkers.

M Do you have breakfast every day?

W Yes, except when | sleep in on weekends.
How about you?

M Usually but not this morning. What do you
usually eat?

W Always the same—French toast and some
orange with tomato juice.

27

Listen to two friends discuss the city

government’s new policy.

W | just heard that the city will now ban large
size sodas.

M | know. | can’t believe the City Council
passed the bill.

W The government believes that sugary drinks
contribute to obesity.

M But they shouldn’t regulate how much soda

M Always? It sounds boring. | drink.
Not really. They are my favorite. W Why not? They control tobacco consumption.

=

Q Which is correct according to the M It’s different. Soda doesn’t harm other people.

conversation? W Well, if the obesity rate increases, everyone

(@) The woman feels sick and tired of her usual illiavetolpayiimorEiisalticarstax:

breakfast. Q Which is correct according to the conversation?
(b) The woman drinks orange juice at breakfast. (@) The woman argues tobacco is a more serious
(c) The man skips breakfast at times. issue.

(b) The woman affirms the social impact of soft
drink consumption.

(d) The man ate breakfast today.
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Listen to a conversation between two friends.

M Sally, any news on your law school admission?

W Not yet. But I’'m confident because | have a
high LSAT score.

M What about recommendation letters? They
could be more important than an exam score.

W | got one from my old professor of philosophy.

M Good. But | think you need one from
someone who practices law.

W That’s a good idea. Thanks for the advice.

Q Which is correct according to the
conversation?

(@) The woman'’s reference is from someone in
the legal circles.

(b) The man recommends a different law school.

(c) The woman thinks her test score isn’t good

enough.
(d) The man suggests getting a reference from a
lawyer.
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2| admission ¢ist

someone who practices law7} (d)0llA lawyerZ,
recommendation letter= reference2 HIFHO E3
[t

confident xt: Ql= LSAT o/=
st tiske IStAIE(Law School Admission Test)
recommendation letter %A philosophy Zst
practice (At HSAL S2=2) Uaict  reference
ZHM circle ZIE ALE|

(d)

Listen to a conversation between two friends in
acar.

M

=

2| distance 72|

| feel tired. | think I’'ve driven quite a long
distance.

Right. It’s time to switch. You could use
some rest.

I’'m also hungry. Maybe we should grab a bite.
| agree. Let’s stop at the next rest area.
Good. | feel like having some noodles.

| also need to drink some coffee before driving.

What can be inferred from the conversation?
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Listen to a conversation at an office.

M

w

Q

Ms. Nora Pelosi? Hi, I’'m Ander from Human
Resources.

Oh, you are Ander. It’s great to finally meet in
person.

Right. We only know each other’s voices.
Thank you for organizing the training session
for new employees last time.

No problem. It’s my job.

We may hire more employees next month.

| see. Please email me in advance so that

| can prepare.

What can be inferred from the conversation?

(@) The woman joined the company before the

man did.

(b) The man may soon organize another training

session.

(c) The two people have never talked to each

other before.

(d) The woman is relatively new to the company.
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Good afternoon, everyone. As most of you
are already aware, our company is planning
to relocate our Product Design Department to
the east side of the building. However, before
making that decision, we want to know what
our staff members think about the relocation.
So what we have here is a short questionnaire
for you to fill out. Please take a moment to
complete it. By the way, this is all going to be
anonymous, so you don’t have to write your
name or anything that identifies you.

Q What is the main purpose of the
announcement?

(@) To check employees’ opinion about a
department relocation

(b) To explain that the questionnaire is simple
and easy to complete

(c) To explain that relocation is for the best
interest of the workers

(d) To give appropriate guidelines about filling
out questionnaires
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Aleksandr Pushkin was one of the most
influential writers of Russian language. Although
he was well-versed in French and wrote some
early works in French, he would later write
exclusively in Russian. Because the Russian
language wasn’t a well-developed language
back then, he had to devise new words while
writing, which would later contribute to the
development of the Russian language and
literature. Not only that, his stories portrayed real
Russian characters that later had great influence
on other Russian writers like Gogol and Tolstoy.

Q What is the main idea of the talk?

(@) The Russian literature was developed by
many important writers.

(b) Pushkin had a great influence on Russian
literature.

(c) Gogol and Tolstoy were influenced by
Pushkin’s writings.

(d) Pushkin wrote his works in both French and
Russian.
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The duty-free industry was exclusively for the
wealthy individuals who could afford the high
cost of flying. However, this all changed when
Boeing introduced a new fleet of commercial
airplanes, the 747 jumbo jets, in 1970.
Boeing 747 has a seating capacity up to 660
passengers. And with its introduction, travelling
by air became more affordable. As a result,
the duty-free industry boomed as more people
began to travel by plane.

Q Which is correct according to the report?

(a) Duty-free products diversified because of
Boeing 747.

(b) Duty-free products began to be sold on
board after 1970.

(c) Boeing 747 is much safer than other airplane
models.

(d) The cost of air travel reduced because of
Boeing 747.
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With profits dropping at an alarming rate,
Creek has decided to change its strategy of
developing and promoting luxury brands. The
CEO, John Raffel, announced that the company
will continue to invest its resources in traditional
brands such as Soapbell and Mills, which always
had loyal followers, but will also change its
strategy from making Amo and Cada luxurious
brands to making them more consumer-
friendly. He hopes that the changes will turn the
current situation around by attracting a broader
customer base.

Q Which is correct according to the talk?

(@) Creek has appointed a new CEO.

(b) Many people are dissatisfied with Creek’s
products.

(c) Creek will try to change its luxury brand
image.

(d) Some of Creek’s brands are cheap and easy
to use.
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Unlike the English language, the Chinese
language uses characters with meaning,
instead of an alphabet. The Chinese characters
originated from pictorial characters. For
example, the word for “tree” is in the shape of
a tree. However, it was impossible to express
complex ideas with simple pictures. So, Chinese
people began to combine two or more picture
words to create a word for an idea. For instance,
as people often rest under a tree, the Chinese
created a letter meaning “rest” by combining the
word for “human” and the word for “tree.”

Q Which is correct about Chinese characters?
(@) All of them are picture words.
They grew out of drawings of things.

ko)

(b
(c
d

- =

Most of them consist of two parts.

=

They cannot express complicated ideas.
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Are you not satisfied with the mundane
packaged tours? Are you up for some adventure
and excitement? Then you need to sign up for
the Outback Australia for a two-week vacation
that you will never forget! You’ll take a tour on
the exotic outback of Australia with a small
group of adventure seekers just like yourself
and experience the natural wonders and beauty
of millions-of-years-old geological formations.
You’ll have a taste of our popular outback
delights and enjoy all sorts of activities, such as
whitewater rafting and bungee jumping.

Q What can be inferred from the advertisement?

(@) Only a handful of people will go on a tour
together.

(b) This is the first time introducing the tour to
customers.

(c) People are encouraged to sign up quickly on
the tour.

(d) The tour will help people to become more
adventurous.
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37~38

A country is labeled an “aging society” when
more than 7% of its total population is 65 and
older. When people aged 65 and older make up
14% of the population, it becomes an “aged
society.” If the population 65 and older reaches
the 20% mark, it is classified as a “super-aged
society.” Population aging is a common problem
dragging down the economies of many nations,
but some countries are aging particularly fast.
While it took more than a century for France and
71 years for the U.S. to transition from an aging
society to an aged society, it took only 24 years
and 17 years for Japan and Korea, respectively.
And it is expected to take only 15 years for
Vietham whose economy is now booming
thanks partially to its youthful population.

Q37 How long did it take Japan to move from an

aging to an aged society?

(@) 15 years

(b) 17 years

(c) 24 years

(d) 71 years

Q38 According to the talk, when does a country

become an aged society?

a
b
©
d

=

When 7% of the population is 65 and older

When 14% of the population is 65 and older
When 20% of the population is 65 and older
When 24% of the population is 65 and older
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39~40

Most conventional automobiles run on gasoline
or diesel that emits a lot of pollutants. These
days, we are seeing an increasing number of
environmentally-friendly cars on the road. The
most common type is a hybrid vehicle that
runs both on gas and electricity. Hybrid cars
use both a gasoline engine and an electric
motor, thereby improving fuel efficiency and
reducing emissions. Recently, electric cars are
also gaining popularity. Electric vehicles used
to be used only for limited purposes, such as
golf carts or amusement park shuttles. But
nowadays, automakers are launching various
electric vehicles such as sedans, SUVs, and
even sports cars for those who can afford the
luxury. However, some critics point out that,
although electric cars themselves don’t emit
air pollutants, they are not a perfect solution
for the environment. Electricity is commonly
made from burning fossil fuels like coal or
natural gas. So unless an electric car runs on
electricity produced by renewable energy, it still
contributes to CO2 emissions.

Q39 What is the talk mainly about?

(@) Environmental harm by hybrid vehicles
(b) Demerits of fossil-fuel vehicles

(c) Environmentally-friendly automobiles
(d) Diverse types of electric vehicles

Q40 What can be inferred from the talk?

(a) Electric sports cars are priced lower than
gasoline sports cars.

(b) The eco-friendliness of electric cars depends
on their energy sources.

(c) Hybrid vehicles are more fuel efficient than
electric cars.

(d) Diesel vehicles emit more harmful gases than
gasoline cars.
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Part |
1

M | flunked the physics exam.
w

(@) I’'m so happy for you.

(b) I should’ve studied harder.

(c) Oh, I'm sorry to hear that.

(d) Physics is my favorite subject.
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M Why don’t we go to Europe for summer
vacation?
w

a) Because it’s cold in winter.

b) | can’t think of a better idea.
c) I'm suffering from jet lag.

d) We don’t have any vacancies.
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W | can’t resist the smell of coffee.
M

a) The taste is a little sour for me, too.
b) But you have already had four cups today.

(
(
(c) It depends on who pays the bill.
(d) This is designed to resist heat.
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= (b)

M Can | help you find something?

=

a) Yes, it is located in aisle five.
b) I’'m looking through the file.
c) No thanks. I'm just browsing.
d) That’s twenty five in total.

S= 2 mo E2IR?

[
yu—
1 RAck= (0)7t 7H RAAFCE (a E &0
E PRI S= £H0lH ZH0l & £ U= LoIH, (d)=
A o=

AlLtgh o FEo| &EoiA & 4 U= 2ol

s

olz] aisle £ look through £0{=Ct browse =2
2t in total ot E&A

B (o)

W I'm thinking of returning this pair of pants.
M

(@) You should. They look fantastic on you.
(b) 1 also think they are too loose.
(c) It’s time to return the favor.
(d) Your hard work will pay off.
sHal w of HEX| BEZ=77t 8.
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M | wouldn’t leave in this weather if | were you.
W

(@) I don’t mind being soaked in the rain.
(b) Inflation is difficult to forecast.

(c) Be careful. The road looks icy.

(d) Right, we are flooded with applications.

siA M LHZE 21 o] Mol 7ER| 942 Ei),

M7 Z5H.
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application A&
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M Would you mind opening the window?
W

a) How kind of you to do that!

(
(b) But it is too high for me to reach.
(c) Sure, you can do me a favor.

(

d) It will open a window of opportunity.

=2 F0| E2l= gXiel Lol 20|t HEsh= B
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w

M

I’m so nervous about my job interview
tomorrow.

a) It's not your job to do it.

c) It’s time you moved on.

(
(b) Don’t worry. You’ll do fine next time.
(
(

d) Just relax and sleep tight tonight.
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nervous ==st move on (M22 & - F=x=2)

Hof7ict relax Z1Estct

(d)

| found the lecture enlightening. How about
you?

a) The instructor totally lost me.

(

(b) The college was founded in 1938.
(c) I think I’'m good at teaching.

(d) The lighting was not bright enough.
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2| enlightening 7i9%S &= instructor 7U\f
totally 2%15| found &&5ict lighting =

= (a)

0

M Excuse me. Ms. Meredith is calling about the
finance project.
W

a) Okay, please put her through.
b) Can | take a message, please?
c) All right, send her in now.

(
(
(
(d) She’s on the phone, so call back later.
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M | want to buy some cookies before boarding
the bus.

W But the bus is leaving soon. We might be
late.

M Pll hurry up. Do you need anything?

W

a) Food is allowed on board.
b) Thanks, but I'll pass.

c) It won’t take long.

d) Wow, that was fast!
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W You are all dressed up. Are you going

somewhere?
I’m meeting my girlfriend’s mother.
Have you been introduced before?

a) Yes, so this is the first time seeing her.

b) We have, but | still feel nervous.

c) I'm not sure whether she will like me.

d) No, but she seemed demanding last time.
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M Did you see Roy’s hair?
W No, what happened?

M He shaved it off!

w

a
b
(
d

R=

Saving is a good habit.
He does that in the summer.

- =

He shaves in the morning.

(
(
(
(

=

So it should be longer now.
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This chemistry course is so demanding.

4

W

M You said it. The workload is too heavy.

W What do you say to making a study group?
M

a) Good. Two heads are better than one.

c) But we just don’t have any chemistry.

(

(b) Great. You are on your own now.

(

(d) OK. Let’s start with a light workout.
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T2z O

Does your school offer evening classes?
No, but we have online courses.
Great! How do | sign up?

(@) Then | can study at night.
(b) That’s before the midterm.
(c) Through the homepage
(d) It’s Psychology 101.
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M How was your job interview yesterday?

W It went quite well. The interviewers were
friendly.

M You should call them today to follow up.

W

(@) Yes, | wish you good luck.
(b) I'd call them if | were you.
(c) I should’ve done that yesterday.
(d) Yeah, | was just about to.
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01zl go well Z=lct interviewer & friendly

What do you want for dinner?

You don’t seem to have much of an appetite.

W
M Anything is fine by me.
w
M

UX| LotEfof Blitt=
ol Z2{241 Rck= (d)7F HESICE (@)= oAtel S

250l follow up o 2ok=Ct be about

(@) I’'m full of myself.

(b) It’s served as an appetizer.
(c) I'm still stuffed.

(d) Dinner is cooking.
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Where is my favorite red skirt?
Margaret wore it to school this morning.
Again? She is driving me mad!

a) You should ask permission first.
b) You have tons of other clothes.
c) Don’t drive if you’re mad.

d) I'll give it back to you now.

W {7}t E0fsk= Wzt Xof of| RUX|?
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(b)

| heard you went cycling last week. How was
it?

Not good. | saw a big pile up on the road.
Oh, were the bikers seriously injured?

The news actually added insult to injury.

b) Not that | know of, but it was very chaotic.

I’d like to know the cause of the accident.

d) It takes some time for the wounds to heal.
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W | was told there is a hiking path in that
mountain.

Yes, but it’s for experienced hikers.
What are you trying to say?

= = =

a) The slope is too steep for the unseasoned.

c) You should plan your career path wisely.

(
(b) Even young children can access the trail.
(
(d) It does not rent out climbing gear.
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0{z] stomach & symptom Z4 occur 245t

& oixjol 4 ol 221

Listen to a conversation between two friends.
W | often have trouble with my stomach these
days.

When does the symptom occur?

Mostly during the late morning hours.
What do you usually have for breakfast?
Lots of cereal with milk.

E

Too much milk could cause stomach trouble.
Try to reduce your milk consumption.

Okay. Maybe | should just drink soy milk
instead.

=

Q What are the man and the woman mainly
discussing?

(@) A possible cause of the woman’s health
problem

(b) Why soy milk is better than regular milk

(c) How milk causes stomach troubles for some
people

(d) Why milk is not recommended for breakfast
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Listen to a conversation at an office. Listen to two friends discuss investment.

M Matthew’s task force team needs another M Where do you think | should invest?
accountant, so | recommended you. W How about biotechnology or solar energy

W Oh, you’re talking about the tax audit team. businesses?

M Right. He needs more accountants to review M What? But their stock prices have been
some financial documents. falling for over a year.

W Okay, but | have to finish writing my report W That’s exactly why you should buy their
due this week. stocks now. Their value will only grow with

M Don’t worry. You can join the team next week. time.

W Great. I'll talk to Matthew then. M | see. Which companies do you recommend?

W Those who have business partners overseas

Q What is mainly happening in the conversation?
( are safer choices.

a) The man is interviewing the woman for a new

job. Q What is the woman mainly doing in the
(b) They are going over some financial documents. conversation?
() The man is introducing the woman to Matthew. (a) Recommending specific companies to invest
(d) The woman is being given a new responsibility. in
(b) Offering the man advice on investment
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W Of, MiIF ZAIES ZEstAE 7ZS. (d) Convincing the man to make safer investments
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Listen to a conversation between two friends in
a restaurant.
W Have you decided what to order for lunch?
M I’'m torn between pasta and steak.
W So am . Hey, why don’t we get the pasta
and we can split a steak.
M That’s a great idea. How about some ice
cream for dessert?
W There is a well-known ice cream parlor
nearby. Let’s go there after lunch.
M Good. Let’s order now.
Which is correct according to the
conversation?
(@) They will order ice cream here after lunch.
(b) They are eating in a well-known restaurant.
(c) The man picks steak over pasta.
(d) The woman wants to share some food.
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Listen to a conversation at an airport.

M Welcome to Heathrow International Airport.
How may | help you, ma’am?

W I’ve just arrived in from Singapore, and need
accommodation.

M Where would you like to stay?

W Near the Expo Center, please. I'll be
attending the science symposium.

M Then | would recommend the Crimson Hotel.

W That sounds great. Could you book me a
reservation, please?

M Right away, ma’am.

Q Which is correct about the woman according
to the conversation?

(@) She wants to stay near the airport.

(b) She accepted the man’s recommendation.

(c) She is traveling alone on a holiday here.

(d) She has just flown into Singapore.
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Listen to a conversation between a call center
agent and a customer.

M Hello, this is Visit Card service center. How
may | help you?

Hi, I lost my credit card.

| see. Could you tell me your card number?
Gosh, | don’t know.

= == =

It’s okay. Do you know your bank account
number?

Yes, it’s 9401-1891-1007. And my name is
Jennifer Walsh.

M Let me check... Okay, Ms. Walsh, your card
has been canceled.

=

W Thank you very much!

Q Which is correct according to the conversation?

(@) The woman'’s card has been used by
someone else.

(b) The man successfully froze her bank account.

(c) The woman does not know her card number.

(d) The woman had her credit card stolen.
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Listen to a conversation between two friends.

W I've never seen this DVD. Its cover is quite
exotic.

M It’s an Indian movie titled Bombay Biking Tour.

W You have a very broad taste in movies.

M Yes, | like to watch and collect all kinds of
films.

W Great. It’s a pity that most people watch only
Hollywood blockbusters.

M Right. Even some movies you don’t like at
first often grow on you.

W Exactly. Maybe we should go to the movies
together some day.

Q Which is correct according to the
conversation?

(@) The man thinks people can expand their
taste in movies.

(b) The woman likes the DVD because of its
cover.

(c) The man never watches blockbuster movies.

(d) The woman usually watches a movie on DVD.

S 217 Zto| tkILICY,

W 0| DVDE RISQIH|. B AES| O==olCt,

M (=Hilo] HtolZ o)k Q1 Hatok.

W gist Fig0| 2E ChISIALE

M 8 RE SF2| g5ts Hu +sks Z 0k,

W U HRE20| ARIS0| HR|PE SSHARD B
A [Zolof.

M Siof MSolk= EOFGHR| Bt Fet= EE otg0l &
H EChmt

W {7 Q18| st 20| &2 7joRCt,

Q chstoll ofstH

(a) EXt= Al
%_ftr.

(b) O4XH= EX| 204 71 DVD7} OKSof| SCh.

(c) ‘E.*I} SEHAH 315 ol 2X| ¢d=r

(d) OixH= HE DVDZ slE =t

227127
J

2
ato| 25 B 4 Uk 42

i ARIS0| BEIPE SEHAEE B 2 OlEpiRst

= OXtol7| Exh= *M20ll= Z0t6kX| 2 Fat=e HE
0RZ0ll S| EctH, F3t FEfo| of HolE = UAS2 0
Op7 st ULt
2| exotic 0|==2! broad Z42 pity ofAdst
grow on (30| 50|) & X2ttt expand Eftiistct



28

Listen to a conversation between two friends.

W So you like that audition program on TV,
huh?

M No, | was just surfing the channels.

W Ha, you’ve been watching that show for
twenty minutes.

M Okay, | admit it. Just don’t tell anyone.

W It’s okay. | like that show too, but | never tell
anyone about it.

M It’s a guilty pleasure. | like it but I'm
embarrassed to admit it.

Q Which is correct about the man and woman
according to the conversation?

(@) The man auditioned for a TV program secretly.

(b) The woman is annoyed by the man’s
channel-surfing.

(c) They share a common taste in a particular TV
show.

(d) The man feels guilty about watching TV alone.
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Listen to a conversation between two college
teachers.

M What courses are you teaching this
semester?

Only basic French classes. I'm so lucky.
You are! | wish | taught basic classes too.
How about your schedule?

=T == =

| have one advanced French grammar and
two writing courses.

=

Wow, you must have a lot to prepare!

<

Right. | just hope I'll get a better schedule
next semester.

Q What can be inferred from the conversation?

(@) The woman taught grammar last semester.

(b) The woman’s French is not as good as the
man’s.

(c) The man is not very happy about his
schedule.

(d) The man will teach basic classes next
semester.
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Listen to a conversation between two friends.

M Do you know how much it costs to insure a
new van?

W | guess it’s quite expensive.

I’m trying to find a good deal on insurance.

s =Z

Do you remember Duane from college? He
works at an insurance agency.

He does? | didn’t know that.

Yeah, you should call him and ask.

| will. Thanks a lot.

o 2= =2

What can be inferred from the conversation?
a) The man does not remember Duane well.
b) The man purchased a new vehicle lately.

N

c) Duane’s company is known for a low
insurance rate.
(d) The man’s new van is insured now.
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Nowadays, anger management has become a
hot issue. What are some of the ways people
can deal with their exploding anger? Successful
management of anger starts with acknowledging
the fact that you have an anger management
problem. However, for most people, they are in
denial or put the blame on others. Such attitudes
can make the problem even worse.

Q What is the main idea of the talk?

(@) The effectiveness of anger management
programs

(b) Numerous ways to manage one’s anger

(c) Health issues associated with anger
management

(d) The importance of admitting one’s anger
issues
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Not everyone living in Levant is a Muslim. Levant
is the region comprising modern-day Lebanon,
Israel, and parts of Turkey and Syria. There are
Muslim Arabs, Christian Arabs, and of course,
Jews, all occupying the same grounds. However,
the conflict between these groups has been on-
going for centuries. And one of the unfortunate
outcomes has been the declining number of
Christian Arabs in the region. Many of them are
leaving their homes for a better life in Western
countries, but they are often unwelcomed there
because people mistakenly associate them with
terrorists.

Q What is mainly being discussed?

(@) The declining Arab population in Levant

(b) The problems faced by Christian Arabs

(c) The religious assimilation of Christian
immigrants

(d) The connection between terrorism and Arabs
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Today, we’ll be discussing the two super
predators in the oceans: the great white shark
and the killer whale. There are clear differences
in the way they hunt their prey. The great white
shark hunts alone, while the killer whale hunts
in pods of three or four. But what is really
interesting is that while the great white shark
hunts by instincts, the killer whales are taught

how to hunt by their parents for years.

Q Which is correct according to the talk?
(@) Killer whales learn how to catch their prey.
b

(
(c
(

=

Killer whales are more skilled at hunting.

- =

The great white sharks hunt in packs.

d) The great white sharks prey on killer whales.
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What | want to talk about for today’s lecture
is urban heat island. Urban heat island is the
rise in temperature in cities more than their
surrounding areas due to buildings and other
concrete structures. These structures absorb
short-wave radiation from the sun that heats up
the area. There are several problems associated
with urban heat islands. One is the change in
weather and the subsequent change in climate,
causing more frequent thunderstorms.

Q Which is correct about urban heat island
according to the lecture?

(@) It causes the climate to change in the
countryside.

(b) It can disturb the weather in urban areas for
the worse.

(c) Itis the direct result of air pollution in the
cities.

(d) It changes the temperature to move up and
down.
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Good afternoon. First, | would like to thank
everyone for coming here on a short notice. Our
company is currently preparing for a fierce legal
battle against our top competitor for a key patent
for our newest model of cell phones. Because of
the urgency and confidentiality of the matter, we
had no choice but to call everyone here on short
notice. As the chief of legal matters, | would like
everyone to remain silent about the issue until it
is resolved.

Q Which is correct according to the
announcement?

(@) The competitor is using the company’s
patent in its products.

(b) Employees should not talk to others about
the company’s status.

(c) Employees should contribute to the legal
process in the future.

(d) The company is suffering from a significant
financial loss.
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Good afternoon, everyone. We are going to be
looking at the miniature portrait paintings, which
began to be made in Europe in the 16th century.
Although these paintings weren’t cheap because
they had to be made by highly skilled artists,
they were very popular among people. They
were especially favored by sailors undertaking
long and strenuous journeys, who wanted
portraits of their loved ones.

Q What can be inferred from the lecture?

(@) People paid a lot of money to learn miniature
portrait painting.

(b) Many highly skilled artists lived outside Europe.

(c) Sailors made a lot of money to afford
miniature portraits.

(d) Miniature portraits were mostly of close
people.
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Diabetes is a disease in which patients have
high blood sugar levels resulting from the body’s
inability to produce or use insulin. Traditionally,
diabetes has been divided into two types. Type
1 diabetes is a genetic condition and is often
called early onset diabetes as it typically occurs
during childhood. People with Type 1 diabetes
produce almost no insulin. On the other hand,
Type 2 diabetes mostly develops in older people
who are overweight or obese. Although Type 2
diabetes has various causes, this classification
has remained unchanged for decades. Recently,
a group of European scientists suggested
that diabetes should be categorized into five
clusters, not just two types. According to their
research, Cluster 3 diabetes is defined similarly
to classical Type 1 diabetes, while the other four
clusters are subtypes of Type 2 diabetes. The
researchers said that the new classification may
not be perfect but will definitely help find more
precise and more personalized treatments for
the disease.

Q37 What is mainly being discussed?

(@) Various causes and symptoms of diabetes
(b) More accurate treatment for diabetes

(c) Variable aspects of type 2 diabetes

(d) Different ways of grouping diabetes

Q38 Which is more likely to develop in young
people?

a) Cluster 1 diabetes

b

©

d

R

Cluster 2 diabetes
Cluster 3 diabetes
Cluster 4 diabetes
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Attention, employees. Let me remind you of the
importance of reporting suspicious behaviors
in our company. If you witness something that
does not reflect our corporate ethical values, or
could be a potential violation of the regulations,
you must not remain silent. By raising your
concerns early, you can enable us to conduct
investigation into a potential issue before it may
get out of our control. Please feel free to go and
talk to your supervisor or our internal lawyer, or
contact them via phone or email. We understand
some of you are hesitant to report a concern
out of fear of retaliation. If you prefer to remain
anonymous, you can choose to do so by using
the Compliance Online Service. The Compliance
Online Service is a secure channel operated
independently by a third party. This means you
can submit a report on the service provider’s
website. Remember, what is important is not
which reporting method you use but your
willingness to come forward.

Q39 Which is correct about the Compliance
Online Service from the talk?

(@) Employees can use it to raise a concern to
their manager.

(b) It is independently managed by the
company’s headquarters.

(c) It can be used to report potential breaches
confidentially.

(d) Some workers hesitate to use it due to
security issues.

Q40 What can be inferred from the talk?

(a) Some people worry about revenge when
reporting compliance issues.

(b) It is recommended to hide one’s identity
when raising concerns.

(c) Most employees prefer email communication
to face-to-face talk.

(d) The company has been enforcing a strong
non-retaliation policy.
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Test of English Proficiency developed by Seoul National University
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Listening Comprehension

Actual Test 1 Actual Test 2 Actual Test 3 Actual Test 4 Actual Test 5
118000 |2 BREE||1 8000 |2 BECE||1T|E8000|H 0000 | |1 6000 |H BEOGE |1 8000 |2 EB600E
2 gD00|2|B000 | |2|BO00 |2|BO00| |2 6000 |2 @000 |2 8000 |2 8000|2000 |2 BO00
3 9000 |B|BOP0||3|BO00 |B|BOPE| |3 6000 | B BECE| |3 B0C0 B B0CE| |3 A00E |2 BO0O
4 000 |2 BO00 ||| BO00 |2 BOP0 | |4 B0CE |2 BECE| |4 B0C0 |2 BOCE| |4 AD0E | BOOE
S @000 [P AOEE||° 8000 (B AOEE||[° BEEE|B @000 | |°|EECE |2 000 ||% 8000 | B B0EM
6 0000 |® AOEE| |6 8000 (B AOCE| |6 BECE|® @000 || 6| EECE|%® @000 | |6 8OO0 | BEOEME
7 9000 |7 BOOE | |7 @OE0|H| BORE |7 QoEE | & BOC0| |7 @O0 @ | BECE| |7 @OE0 |2 BHE
81 ADO0 |B|AOO0 | |8|BODO0 || BOPE | |8 | B0CE |28 BOCE| |8 BOC0 |2 BOCE| |8 AD0E |2 BOOM
9 8000 |P|BOP0 | |?|BOO0 |B|BOPE| || B0CE |2 BECE| |2 B0C0 P BOCE| |2 AD0E |2 BOOM
09000 |0 B0EE| |10 8000 |0 B0CE| |10 6000 |0 000 | |10 E6CH0 |0 660 | |10 8000 |0 BECA
Negeee |3 8000 (M EeeE |3 8000 M B000 |3 EECE| | M ABEE |3 8000 | (M BEEE |3 8000
216000 |2 @000 |12|6600 |2 @000 |2 0000 |2 666|000 2| E000| |12 BEEE |2 8000
BEEEE|B @000 | (B EECE |V 000 |B 00O B EECE| B OCE B EECE| B BEEE|B 8000
¥ EPOO M OO0 | | M @EEE|# 00| M BOC0 |3 B0CE||M 660 |# 000 ||M B0 |3 OO0
5 @000 |3 gpeo| |8 B B gpee| 1B BOCE|B gpoe | (B|EHYY B geeE | |[1B|EDLE B §p00
6/ 9000 |%® B0CE| |16 80C0 B BOCE| |18 000 |® 000 | |16 8600 |® 600 | |16 8000 B BECA
7T eeee | 8000 |V E6CE |7 6000 |7 0000 |7 E6C6E| |T7 A0CE || 8000 | |77 BEEE | 8000
BlgREE |B @000 (1B EECE|B 000 |B HOOE B EECE| 1B HOCEE B BOCE| |1 BEEE|B B0
B EEEE|N @000 | (P EECE R 000 | 000 | B EECE| |10 A0C0E B 00| |1 BEEE|N 8000
2/ JHP0 |0 @EEE| |2 EEOO |0 BOEO | | D EECE |10 EEEE | (P BOOO |0 OO0 | | D BHOO |9 BOOE
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